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Dhaka Commerce College
4" Term Exam-2020
Class: XII

Subject: English Subject

Time: 60 minutes

Code: 107 & 108
Total Marks: 60

Read the following multiple choice questions and choose the best option from the alternatives:

1. Is there a crisis in our time with regard to access to clean
drinking water? What does the word ‘access’ mean here?
A. permission B. approval
C. authorization D. rightv
2. The United Nations identified the drinking water problem
as one of the challenges for the future. The word ‘identify’ can
be replaced by :
A. know B. take C. recognizev D. dismiss
3. A few rivers are already dead and several are going through
the pangs of death. What is the antonym of the word ‘pang’?
A. pain B. comfortv  C. suffering D. injury
4. A perpetual stench fills the air around the river Buriganga.
Here the word ‘stench’ can be replaced by
A.foul B.bad C. waste D. malodorv
5. A newspaper report says that the river had a glorious past.
Here the word ‘glorious’ gives the opposite meaning of-
A. beautiful  B. great C. disgraceful v D. famous
6. Hakaluki haor is a ecosystem.
A. sophisticated v B. classified
C. ecological D. minute
7. Hakaluki haor is by the Kushiara river and a part
of the Sonai-Bardal river to the north.
A. rounded B. compounded
C. astounded D. boundedv
8. From the Kushiara there are frequent upstream movement
of fish towards the beels and tributaries of Hakaluki. Here the
word ‘upstream’ refers to-

A. uphillv  B. upfront C. uptown D. upraise
9. The beels in Hakaluki haor provide winter shelter to the
mother fisheries. Here the word ‘shelter’ can be replaced by-
A.refugev  B.refuse C.room D. place
10. Among the migratory birds visiting Hakaluki, Barheaded
Goose is the most interesting species. Here the word
‘interesting’ is synonymous of-
A. familiar B. homely C. repulsive D. exoticv
11. COVID19 cases, hospitalizations and deaths across the
country are .
A.raising  B. risingv C. running D. highest
12. As cold weather , people should take steps to slow
down the spread of COVID-109.

A. reaches B. moves
C. approachesv D. none of these
13. a mask, staying at least 6 feet apart, avoiding

crowds, and washing your hands certainly helps to reduce the
risk of Covid19 infection .

A. To wear B. Covering

C. Wearingv D. Cleaning

14. The more steps you take, the more you are protected
COVID19.

A. form B. againstv C. by D. around

15. To keep yourself safe from COVID19, you should choose
masks that ___ two or more layers.

A. having B. havev C. has D. are

16. Make ___ your mask covers your nose and mouth if you
want to keep yourself safe from COVID19.

A. surev B. ensure C. confirm D. rule
17. The government is trying ___ best to keep the COVID19
infection under control.

A.her  B.the government’s C.it’s D. itsv

18. It is a matter of regret that people are no heed to
government directives regarding the COVID19 pandemic.

A. taking B. payingv C. giving D. having

19. To limit the spread of COVID19 the government has
decided to take  steps against those who don’t follow
basic health safety rules.

A. stronger B. harder

C. sternerv D. better

20. If we want to save ourselves from COVID19 we should
not forget that God helps those who help

A. himself B. themselvesv

C. herself D. ourselves

21. Freedom is ___ eternal craving of man.

A a B. the C.anv D. X

22. Many man is deprived of freedom across the
globe.

A X B. an C. the D.av

23. The urge to be free is strong in a human being that even
____one-eyed man is ready to fight for his freedom.

A av B. X C.an D. the

24. 1t is true that European’s notion of individual
freedom is different from that of an Asian’s.

A. X B.an C.av D. the

25. __ university is the place where the real meaning of
freedom should be taught.

A. An B. Av C.The D. X

26. Syed Shamsul Hag, a legendary litterateur, received the
Bangla Academy award ____the age of twenty-nine.

A.in B.on C.atv D. from

27. Syed Shamsul haq was married _ Anwara Syed Hag.
A. with B. tov C. by D. between

28. Syed Hag was awarded the Swadhinata Padak in 2000 for
his contribution ___ Bangla literature.

A.to B.on C. for D.inv

29. Syed Shamsul Haq is known __ an all-rounder in the
field of Bangla literature as he wrote all sorts of fiction and
non-fiction.

A.asv B. by C. for D. among
30. Syed Shamsul haq, a renowned intellectual, passed away
27 September 2016.

A. since B.by C.onv D.in
31. I met my friend ten years ago. | can hardly recall his name,
__his address.

A. would rather B. what if C. had better D. let alonev
32. X: helping me preparing some snacks?
Y: sure.
A. Would you mindv
C. Could you please
33. _ aflower _?
A. What s ... like?
C. What if ... is beautiful?

B.Would you please
D. Shouldn’t you

B. What does ... look like? v
D. I would rather pluck ... now.

34. die than beg.
A. | had better B. I wish | would rather
C. I should D. | would rather v

35. Give him the good news ____ you meet him.

A. as soon asv B. as much as

C. as quick D. as fast as

36. “Do you know this man?” “Yes, I know him. ___ since he
was a boy.”

A. | know him B. I knew him

C. I had known him D. I have known himv

37. What a lovely view that was! If | had had a camera ___
A. 1 would take a photo  B. I would have taken a photov
C. 1 will take a photo D. I might take a photo



38. spoil the broth.
A. Too many fires B. Too many cocks
C. Too many cooksv D. Too much salt
39. Smoking is detrimental to health. It is high time you ___.
A. stop smoking B. give up smoking
C. had stopped smoking  D. quit smokingv
40. Birds fly in the sky. Il wish | ___.
A. were a bird v B. was a bird
C. could have been a bird D. ama bird
41. When | was a child | was afraid of the dark,and I ___ to
sleep with a light on.
A.went B.usedtogov C.would D. mightgo
42. When | was a child I feared that monsters ___in through
my bedroom window.

A. had climbed B. will climb
C. climbed D. might climbv
43. Now that | ___ almost twenty, | obviously do better than

what | did as a child regarding the fear of monsters.

A. reached B. was C.amv D. became
44. When | was a child | was afraid to sleep alone and | still
hate ___ alone.

A. sleepingv B. sleeps C. slept D. to wake
45. | double-check every door and every window to make sure
thatthey .

A. get lock B. should lock

C. are lockedv D. were locked

46. It was 1971 when Bangladesh achieved independence.
Choose the simple form.

A. Bangladesh achieved independence and it was 1971.

B. When it was 1971, Bangladesh achieved independence.

C. Bangladesh achieving independence, it was 1971.

D. Bangladesh achieved independence in 1971. v

47. Most of the people of our country are living in the rural
areas. Choose the interrogative form without changing the
meaning.

A. Aren’t most of the people of our country living in the rural
areas? v

B. Are most of the people of our country living in the rural
areas?

C. Aren’t very few people of our country live in the urban
areas?

D. Most of the people of our country aren’t living in the rural
areas.

48. It is thought that mobile phones may cause brain tumour.
Choose the passive form.

A. Doctors think that mobile phones may cause brain tumour.
v

B. People thinks that mobile phones may cause brain tumour.
C. We thought that mobile phones may cause brain tumour.
D. Mobile phones may cause brain tumour and it is thought by
doctors.

49. Killing the albatross the old sailor brought bad luck to the
sailors. Choose the complex form.

A. The old sailor killed the albatross and it brought bad luck to
the sailors.

B. The old sailor killed the albatross to bring bad luck to the
sailors.

C. Since the old sailor killed the albatross, he brought bad luck
to the sailors. v

D. The albatross which was killed by the old sailor brought
bad luck to the sailors.

50. Jim was one of the sincerest husbands that we have ever
known. Choose the positive form.

A. Very few husbands that we have ever known are as sincere
as Jim.

B. Very few husbands that we have ever known were as
sincere as Jim. v

C. Jim was more sincere than most other husbands that we
have ever known.

D. Most of the hushands that we have ever known were more
sincere than Jim.

51. Deforestation means cutting down of trees
the post modifier of the verb).

A. by random B. with random
D. at randomv

52. Deforestation causes imbalance (choose the
appropriate pre modifier of the noun).

(choose

C. in random

A. earthly B. ecologicalv

C. ecology D. ecosystem

53. Don’t jump from a car (choose the appropriate
participle).

A. shelling B. salvaging

C. destroying D. runningv

54. My father has bought a (choose the compound
nominal) car.

A. reconditioned B. used

C. brand-newv D. imported

55. We camped (choose the appropriate

prepositional phrase to post modify the verb).

A. in the forestv B. on the forest

C. by night D. to take rest

56. We cannot walk on a road in the darkness without light.
, We cannot step forward in our life without education.

A. So  B. Therefore C. As D. Similarlyv

57. We should always keep in mind all kinds of

physical exercises are not suitable for all.

At B. thatv C.how D. where

58. Water is a vital element of the environment. this

element is polluted in many ways.

A. So B. Consequently
C. Butv D. In fact
59. I was walking along the road the other day, |

found a small brown leather purse lying on the pavement.
A. Luckily B. Suddenly C. Last week D. Whilev
60. When | found a small leather purse lying on the pavement,
I picked it up and opened itto see I could find out the
OWnNers name.
A. whetherv C. how

B. where D. and
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1. Which one is High Level Language?
a. Ada b. Assembly c. Pythonv d. Machine
2. Which level of language is called machine language ?

a. High  b. Mid c. Lowv d.VeryHigh

3. Which one is the function of C language?

a. int  b.printf()v  c. Stdio.h d. for

4. Which generation language is related to Artificial
Intelligence?

a2nd  b.3rd c.4" d 5"v

5. How many bits of space in memory occupies by the float
data type?

a.8 b 16 c. 32v d.64

6. In which operating system C Language was first invented?
a. UNIXvVv b. LINUX c¢. DOS d. WINDOWS
7. Keyword of C language-

i.auto ii.char iii. double .

Which one is correct of the following?

a. i &ii b.i&iii  c ii&iii di i &iiiv

8. Which one is the format specifier of the double data type ?
a. %c b. %d c. %Ifv d. %f

9. Where to declare local variable?

a. At the beginning of the function v

b. At the end of the function

c. Before the main function

d. Before the header file

10. The work of the compiler—

i. Translating machine language into human language

ii. Convert source code to object code

iii. Convert source program to object program.

Which of the following is correct?

a. 1 &l b i&iii c ii&iiiv diii&iii

11. Which language is used to solve the engineering
problems?

a. PYTHON b. HTML c. BASIC d. FORTAN VvV

12. Which one is known as second generation language?

a. Assembly v b. High level

c. machine d. Very high level

13. Read the stimulus and answer the guestion:

Jerry writes a program in C-language to determine the sum of
two numbers. Assigning 2 numbers after running the program
results in only 2 numbers being displayed. What is the cause
of the displayed error?

a. Codingv b. Debugging

c. Algorithm d. flowchart

14. Which is the header file? i. stdio.h ii. conio.h iii. math.h.
Which of the following is correct?

a. 1 &ii b i&iii c ii&iii di i &iiiv

15. Which of the following converts the source program into
an object program?

a. Compilerv Db. Interpreter c. Linker d. Assembler
16. Memory addresses work directly-- i. In machine language
ii. In assembly language iii. In C. Which of the following is
correct?

a. 1 &iv  boi&iii c i &iii d.i, i &iii

17. After writing a program, the mistake that can be made i.
Execution error ii Rational error iii. Symbolic error. Which of
the following is correct?

a. 1 &ii b.i&iii c ii&iii di il &iiiv
18. Which one is the keyword of integer data type in C
language?

a. char b.intv c. string d. float

19. In which brackets are programs written in C language?
a. () b.[] c. <> d{}v

20. In which language of programs does not require a
translator?

a. Natural b. High level

c. Assembly d. Machine v

21. What is called the sequence of instructions to solve the
problem in computer language ?

a. Hardware b. Programv

c. Graphics d. Database

22. Who is the father of C Language?

a. Dennis Ritchie v b. Bil Gates

c. Lady Ada Augusta d. Marshal Macluhan

23. There is a difference between compiler and interpreter-
(i) program for translation

(ii) speed of work

(iii) misrepresentation.

Which of the following is correct?

a. i1 &ii b i&iii  c o ii&iii diii&iiiv

24. Three integers (a, b, ¢) Which of the following is the
correct use of input function for taking input by key board?
a. scanf (“%a, %b, %c”, &a, &b, &c)

b. scanf (“%a, %b, %c”, &a, &b, &c);

c. scanf (“%d %d %d”, &a, &b, &c); V

d. scanf (“% d % d % d”, a, b, ¢);

25 Which header file is required for getch ()?

a. stdio.h.  b. conio.hv c. math.h d. graphics.h
26 Which header file is required for sqrt?

a. stdio.h.  b. conio.h c. math.hv d. graphics.h
27. Machine language is-- i. Execute faster than other
languages ii. Depends on the device iii. You can write a
program quickly. Which of the following is correct?

a. 1 &IV  bi&iii c ii&iii  diii &iii

28. The important thing to do is to write any program-- i.
Problem Solving and Analysis ii. Creating algorithms and
flowcharts iii. Program coding debugging. Which of the
following is correct?

a i&ii b. i&iii c. i&iii  d.i,ii &iiiv
29. Which statement is incorrect?
a.int1m; v

b. printf("Enter your marks");

c. scanf("%d", &m);

d. printf("%d”, m);

30. Which of the following symbols is used in a flowchart?

D

a. Input and Output b. Start and Stop v

c. Processing d. Decision
31. Which one is the base of Database?

a.Data Db.Fieldv c.Record d. Table
32. The function of DBMS is- (i) to include new data (ii) to
increase the reuse of information (iii) to ensure data security.
Which of the following is correct?
a. i1 &ii b.i&iii  c. ii &iii
33. What is Oracle??
a. Programming Language
b. Word processor
c. Garphics program
d. Database Management Syatem v
34. Which of the following is required to select all the fields in

d.i, it &iii v

SQL query?
a. SELECT ALL b. SELECT ALL Files
c. SELECT *v d. SELECT **



35. Sorting is - i. sorting up values ii. sorting down iii to find
specific information. Which of the following is correct?
a 1&iv  boi&iii c ii&iii d.i, i &iii

36. Can be indexed- i. On a field ii. On two fields iii. On
multiple fields. Which of the following is correct?

a. i1 &ii b i&iii ¢ ii&iii doi i &V

37. Which of the following fields can be a data type memo?
a. ID b. Salary c. Hobbyv d. Designation

38. Which type of data is Graph ?

a. OLEV b.Text c. Memo d. Yes/No

39. Which is the DDL statement of the database?

a. Create v Db. Delete c.Update d. Grant

40. The method of encrypting data is- i. Caesar Code ii. Parity
bit iii. IDEA. Which of the following is correct?

a. i1 &l b i&iiiv  c i &iii  d.i, i &iii

41. What are the rules of data encryption and decryption?
a. Cybernetics b. Cryptography v

c. Informatics d. Cytography

42. Fields that cannot be sorted- i. Memo ii. Currency iii.
OLE. Which of the following is correct?

a. i1 &l b i&iiiv  c ii&iii d.i,ii &iii

43. What is made up of one or more records?

a. Field b.Tablev c. Database d. Key field

44. Which one is database management software?

a. MS-Power Point b. MS-Word

c. MS-Access Vv d. MS-Excell

45. Which field could be a primary key?

a. Name  b. Address c. Fee d. Mobile Numberv
46. What is the full form of OLE?

a. Object Linking Embedding v

b. Object Linking and Encrypting

c. Object Linking Enrichment

d. Object Linked Evaluation

47. What is the full form of RDBMS?

a. Relational Database Management System v

b. Real Data Manage System

c. Relative Database Management System

d. Relational Database Markup system

48. When the primary key of one table is used as a common
key in another table, it is called -

a. Super key b. Primary key

c. Composite Primary key d. foreign key v

49. What to write in SQL Query after Select?

a. Entity b. Table name

c. Fieldnamev  d. Condition

50. which query included Update?

a. Select b.Parameter c. Crosstab d. ActionV

51. How many characters can be placed in the memo field?
a. 255 Db. 32767 c. 65536V d.65537

52. What is the data type of Tuition Fee?

a. Text b. Memo c. Logical d. Currency Vv

53. The function of the database is- i. Include new records in
the database ii. Delete unnecessary files iii. Find the desired
record. Which of the following is correct?

a. i &ii b i&iii coii&iii doi i &iiiv

54. What is called a data under a field?

a. Text b. Information c. Value v d. Record

55. Which is the smallest part of the information?

a. Fact  b. News c. Datav d. Number

56. If there is no common field in the table, then the relation
has to be done by a 3rd field, what kind of relation is this?
a. Many to many v b. Many to one

c. One to many d. One to one

57. Which of the following is used to find out the information
from a database?

a.HTML  b.SQL v c. XML d. DHTML

58. Who is the inventor of relational database?

a. EF Codd v b. Denis Ritche

c. Charls Babbes d. Ward Ster

59. What is the SQL command for adding new records to the
database?

a. SELECT Db. INSERTvV c¢. FROM d. UPDATE
60. What is the maximum number of characters that can be
used in text data type?

a. 128 b. 255V c. 256 d. 512
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1. From which word has the word ‘Motivation’ derived?
A. Movery B. Motive C. Moverev D. Move
2. Which one of the below is a non-financial means of
motivation?
A. Travel facility B. Reward
C. Recognitionv D. Accommodation
3. According to the Two-Factors Theory, which one is a
motivational factor?

A. Work environment B. Supervision

C. Security D. Responsibilityv
Read the stem and answer questions 4-5:
Mr. Araf is a manager of a multinational company. Other
than a respectable salary, he also enjoying accommodation
& vehicles facility from the company. He frequently travels
to Europe in company’s expense.
4. According to Maslow’s motivation theory, on which
stage does Mr. Araf exist?

A 1" B. 3" C. 4" D.5"
5. For this it will increase Araf’s-

i. morale ii. job dissatisfaction iii. job dynamism
Which one of the following is correct?

Al &ii B.i &iiiv  C.ii &iii D.i,ii &iii
6. Which one of the following is increased in an institution
due to motivation?

A. Labor turnover B. Productivityv
C. Expense D. Amount of capital
7. ‘Employees are receiving works as easy as playing and
resting” — Which motivational theory’s main concept is this?

A. Need hierarchy theory B. Two factors theory

C. Theory X D. Theory Yv

8. By which one of the following motivation is affected
directly?

A. Productivity B. Job satisfaction

C. Morale D. Stimulatorv
9. According to Herzberg’s theory, by which one of the
following elements can the dissatisfaction of employees be
removed?

A. Training B. Company’s policyV

C. Recognition of success  D. Chance of prosperity
10. Rabib Ahmed is working as an assistant manager in an
organization for last 10 years. Which one can be the best
motivator for him?

A. Bonus B. Increase of salary

C. Training D. Promotionv
Read the stem and answer questions 11-12:
Ms. Lucky has to use technology to arrange meetings with
officers in different countries for the need of her
organization.
11. Which communication technology may be the most
convenient for Ms. Lucky?

A. Email B. Voice mail

C. Video conferencingv D. FAX
12. For this communication, the benefits that the
organization will get are-

i. reduce the cost

ii. improve the informal relationship

iii. appropriate decisions
Which one of the following is correct?

Al &ii B.i &iiiv  C.ii &iii D.i,ii &iii
13. What kind of communication is traffic lights?

A. Oral B. Mass communication

C. Informal D. Non-verbalv
14. The importance of business communication are-

i. increase of efficiency

ii. development of relations

iii. taking right decisions
Which one of the following is correct?

Ali&ii B.i&iii  C.ii &iii D. i, ii &iiiv
15. Which one of the following has the most significant role
in two-way communication?

A. Sender B.Receiver C.Message D. Feedbackv
16. Which one of the following is the first element of the
communication process?

A. Message B. Medium C. Receiver D. Senderv
17. Which one of the following is the benefit of written
communication?

A. Instant feedback ~ B. Time reduce

C. Easy to change D. Prevention of distortionv
18. Which one of the following is a modern medium of
communication?

A. Radio B. Television C.FAXv D. Telegram
19. Which one of the following is excluded from written
communication method?

A. Notice Board B. Interviewv

C. Report D. Circular
20. Rita Rahman is the sales manager of T.S Publications.
On the other hand, Arabi is the personnel manager in the
same institution. What type of communication will happen
between them?

A. Diagonal B. Horizontalv

C. Downwards D. Upwards
21. How much time of imprisonment will a copyright
breaker face for the first time?

A.3months B.6monthsy C.1-year D. 3 years
22. Which years’ Patent Law is practiced in Bangladesh?

A.1911v  B.1940 C.2000 D. 2009
Read the stem and answer questions 23-24:

The factory of Chaity Cosmetics is situated on the bank of
river Turag. For a complaint of skin diseases from local
residents, Department of Environment ordered Chaity
Cosmetics to follow the instructions provided by them.

23. For the activities of Chaity Cosmetics, which element of
environment has been polluted?

A. Air  B. Sail C. Waterv  D. Sound
24. What could be the instructions given by the Department
of Environment about?

A. Control in raw materials of production

B. Factory closure

C. Proper wastage managementv

D. Compensation
25. Which one is the ISO ‘Environment Management’
certificate?

A. 1SO 9000 B. 1ISO 14000v

C. ISO 26000 D. ISO 31000
26. Which element of environment is polluted due to
loitering?

A.Water  B. Soilv  C. Sound D. Air
27. Mr. Araf invented the technique of making fuel from
water. By which law can he seek legal protection for this?

A. Copyright B. Insurance C. Patentv D. Trademark
28. To whom the remedy may be sought for the
infringement of logo using rights?

A. Registrar B. High courtv

C. Law enforcer D. Administration
29. For how many years does trademark remain in force?

A. TV B.8 C.9 D. 10
30. Which side of risk is the objective of insurances?

A.Ignoring B.Prevent C.Increase D. Distributionv
31. Government decides to spread the local product market
to Russia by arranging a fair. On whom does the
responsibility of arrangement go to?

A. Chamber of Commerce and Industry B. EPBvV

C. BGMEA D. SME foundation



32. From which organization can infrastructural benefits be
received?
A.BSCICv B.BGMEA C.EPB D.SME foundation
33. The roles of The Chamber of Commerce and Industry
are —
i. preserving the rights of the members of the association
ii. solving disputes among members
iii. providing information related to products’ markets
Which one of the following is correct?
Ali&ii B.i&iii  C.ii&iii  D.i,ii &iiiv
34. Which one is the largest regional economic alliance in
the world?
A. ASEAN B.SAPTA C.EUv D.BIMSTEC
Read the stem and answer questions 35-36:
Like the other countries of the world, Bangladesh is a
member of an organization too. The organization is playing
a vital role for the development of overall world’s business
and commerce.
35. Which organization is mentioned in the stem?
A. ASEAN B.WTOv C.SAPTA D.BIMSTEC
36. The roles of the organization are —
i. providing technical assistance
ii. the best usage of the resources in the world
iii. solving disputes relating to commerce
Which one of the following is correct?
Ali&ii B.i&iii  Coii &iii  D.i, ii &iiiv
37. Which one of the following is a sustaining assistance?
A. Modernizationv B. Project preparing
C. Supply of raw materials ~ D. Marketing
38. Which assisting organization is more important for
shirt-pants exporter?
A.BSCIC B.FBCCI C.BGMEAv D.EPB
39. Under which ministry the SME foundation was
registered?
A. Industry
C. Commercev
D. Local government & Rural development
40. Where is the head office of BIMSTEC?
A. Jakarta B. Geneva
C. New Delhi D. Dhakav
41. Which one is the first function of business
entrepreneurship?
A. ldentifying the source of raw materials
B. Identifying the source of funding
C. Creating new market
D. Innovation of a product or ideav
42. Which type of entrepreneurs are prioritized at the time
of distributing SME loans?
A. Small B. Womenv ~ C.New D. Medium
43. Why is there much risk in the entrepreneurial
procedure?
A. Due to uncertain environmentv
B. Lack of supportive hands
C. Doubt about qualifications
D. Time consuming to gain experience
44. Mr. Rahim is an industrial entrepreneur and Mr. Karim
is the regional manager of his organization. What is the
similarity between them?
A. Taking risks in business
B. Guaranteed income opportunity
C. Special honor for achieving success
D. Participation in managementv

B. Finance

45. Why is business entrepreneurship different than
conventional business activity?

A. Level of uncertainty is less

B. No need of excess capital

C. Need of creative thinkingv

D. Necessity of positive mentality
46. In which year Ranoda Prasad Saha was born?

A.1896v  B.1925 C. 1953 C.1971

47. Which organization’s entrepreneur is Dr. Hosne Ara
Begum?

A.ASA B.BRAC C.TMSSv D.PRASHIKA
Read the stem and answer questions 48-49:

After taking lease of some lands beside the river Padma,
Mr. Roni established an entertainment center there. Keeping
the occasion of upcoming ‘Pahela Boishakh’ in mind, he
decided to arrange a fair at the center. Later on, product
prices were increased and he made more profit.

48. What can be called the activity of establishment of an
entertainment center by Mr. Roni?

A. Entrepreneurship B. Self-employment

C. Commerce D. Business entrepreneurshipv
49. What is the main reason behind Mr. Roni’s success?

A. Confidence B. Morality

C. Foresightv D. Sincerity
50. Who does bear the risk of financing in a new business?

A. Board of directors B. Insurer

C. Entrepreneurv D. Bank
51. Like Metro Rail project, which type of organization is
more suitable to carry out such mega projects in
Bangladesh?

A. PPP Businessv

B. Government joint stock company
C. Statutory corporation
D. Government divisional organization
52. Which years’ PPP policy is active in Bangladesh?

A. 2001 B. 2006 C. 2010v D. 2012
53. Which one is the main reason for establishment of state
enterprises?

A. Creation of employment opportunity

B. Public welfarev

C. Increase of financial capability

D. Resistance of corruption
54. ‘State enterprise is better than company organization ‘—
why?

A. Level of risk is low

B. Balanced distribution of wealthv

C. Chance of loss is very low

D. It has a separate & independent identity
55. Which one of the following is a big barrier in
establishing PPP businesses in Bangladesh?

A. Law and order is unsuitable for business

B. Private sector in the country is quite weak

C. Lesser financial capability of Government

D. Bureaucratic complexityv
Read the stem and answer questions 56-57:

Nirob works in a government organiztion. That organization
does not have to face any competition in its’ sector.
However, due to no such progress of the organization, he is
depressed.

56. In which organization of the following does Nirob
work?

A. Bangladesh Parjatan Corporation

B. Biman Bangladesh

C. Bangladesh Road Transport Corporation

D. Bangladesh Railwayv
57. To make progress of that organization, the steps could
be-

i. development of managerial skills ii. reduce wastage

iii. increase investment in profitable sectors
Which one of the following is correct?

Ai&ii B.i&iii  C.ii &iii
58. What is the full form of WASA?
A. WATER AND SEWERAGE AUTHORITY
B. WATER AND SUPPLY AUTHORITY
C. WATER SUPPLY AND SEWERAGE AUTHORITYYV
D. WATER AND SERVICE AUTHORITY
59. What type of products are more produced in BCIC?

A. Leather  B. Fertilizerv C. Steel D. Medicine
60. What is the highest percentage of share owning by
Government in a state enterprise?

A. 49 B.51 C.99 D. 100v

D. i, ii &iiiv
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Dhaka Commerce College
4™ Term Examination, 2020
Class: XII

Subject: Accounting 1% & 2 Paper (Multiple Choice Questions)

Time: 60 Minutes

Subject Code: 253
Full Marks: 60

1. In bank reconciliation statement, cheque in transit-

a. is deducted from cash book balance

b. is add to cash book balance

c. is add to bank balancev

d. is deducted from bank balance

2. Who prepare bank reconciliation statement?

a. Bank b. Depositorv

c. Bank and Depositor d. Debtor

3. Which one is not the reason of difference between cash

book & bank statement?

a. Cash taka of business deposited to bankv

b. Bank charge not recorded to cash book

c. Note receivable collected by bank

d. Cheque issued but not presented to bank

4. Which one recorded in the debit side of cash book and the

credit side of bank statement?

a. Bank service charge  b. Error by bank

c. Error by depositor d. Interest on bank depositVv

5. Which of the following is added to the bank statement in

corrected balance method?

a. Deposited cheque not yet collected by bankv

b. Dishonored cheque c¢. Bank service charge

d. Interest on bank overdraft

6. What will the bank do to the depositor's account if the
depositor withdraws money?

a. Debitv b. Credit c. Addition d. Deposit

7. Debit me morandum issued for -

(i) service charge (ii) interest on bank deposit

(iii) cheque dishonor

Following which one is correct?

(i) & (i) (i) & (iii) v (i) & (iii) (i), (ii) & (iii)

8. Credit memorandum issued for -

(i) service charge (ii) interest on bank deposit

(iii) collection of notes receivable

Following which one is correct?

a. (i) & (ii) b. (i) & (iii) c. (i) & (iii) v d. (i), (ii) & (iii)

9. Causes of difference between balance as per cash book
and bank statement are-

(i) issued cheque not yet presented to bank

(ii) deposited cheque not yet collected by bank

(iii) interest granted by bank

Following which one is correct?

a. (i) & (ii) b. (i) & (iii) c. (i) & (iii) d. (i), (ii) & (iii) v

10. If charged by the bank, then-

(i) the bank issues a credit memorandum

(i) credited to the cash book

(iii) debited to the bank statement

Following which one is correct?

a. (i) & (ii) b. (i) & (iii) c. (i) & (i) v d. (i), (i) & (iii)

11. What is the meaning of NSF?

a. Not Suitable Fund b. Non Significant Fund

c. Not sufficient fundv  d. Net Saving Fund

12. Which of the following is deducted from the cash book

balance in corrected balance method?

a. Bank service chargeVv

b. Deposited cheque not collected by bank

c. Check deposit in the meantime

d. Collection of notes receivable by bank

13. The bank has sanctioned interest of Tk. 500 but it was
not written in the cash book. Which of the following
statements will be true as a result of the transaction?

a. Tk. 500 less will be shown in the bank statement

b. Tk. 500 more will be shown in the bank statement

c. Tk. 500 more will be shown in the cash book

d. Tk. 500 less will be shown in the cash bookV

14. A check for Tk. 3,000 has been issued but has not yet
been presented to the bank. Which of the following
statements will be true as a result of the transaction?

a. Tk. 3,000 less will be shown in the bank statement

b. Tk. 3,000 more will be shown in the bank statementv

c. Tk. 3,000 more will be shown in the cash book

d. Tk. 6,000 more will be shown in the cash book

15. If the bank grants interest-

(i) debit is to done in cash book

(ii) the bank issues a debit memorandum

(iii) credit is to done in bank statement

Following which one is correct?

a. (i) & (ii) b. (i) & (iii) v c. (ii) & (i) d. (i), (i) & (iii)

16. Which is not component of prime cost?

a. Direct raw materials  b. Direct labor

c. Other direct expenses d. Other indirect expensesv

17. Which one is factory overhead?

a. Production wages b. Office electricity expense

c. Indirect raw materialsv d. Salary of salesman

18. Elements of production cost -

(i) direct material (i) direct labor

(iii) production overhead

Following which one is correct?

a. (i) & (i) b. (i) & (iii) c. (ii) & (iii) d. (i), (ii) & (iii) v

19. How is production cost determined?

a. Cost of raw materials used + direct labor + factory
overheadVv

b. Cost of goods sold + selling price + profit

c. Prime cost + profit + total cost

d. Cost of goods sold + total cost + profit

20. Which one is include in sales overhead costs?

a. Advertising costsv b. Gas and fuel

c. Factory insurance d. Factory wages

21. Which one is correct?

a. Prime cost + factory overhead = factory costv

b. Prime cost + administrative overhead = factory cost

c. Factory overhead + administrative overhead = production
cost

d. Production cost + selling and distribution overhead = total
cost

22. Administrative overhead + Sales overhead = ?

a. Operating expenseV  b. Prime cost

c. Conversion cost d. Cost of goods sold

23. What is the prime cost if the beginning raw material is
Tk. 5,000, closing raw material is Tk. 13,000, purchase
of raw material is Tk. 15,000 and direct wage is Tk.
5,000?

a. 10,000 b. 11,000 c.12,000v d. 13,000

24. If the rate of profit on purchase price is 25%, what will be
the rate of profit on selling price?

a.20%V  b.25% c.30% d.33.33%

25. If the total sales volume in a business is 20,000 units, the
quantity of closing stock is 4,000 units and the quantity
of opening stock is 2,000 units, what will be the unit of
production?

a. 16,000 units b. 18,000 units

c. 20,000 units d. 22,000 unitsv

26. Components of factory overhead are-

(i) indirect raw material (ii) factory wages

(iii) indirect labor

Following which one is correct?

a. (i) & (i) b. (i) & (iii) v c. (i) & (iii) d. (i), (ii) & (iii)

27. Components of prime cost are-

(i) cost of raw material used

(ii) direct labor or wages (iii) direct other expense



Following which one is correct?

a. (i) & (ii) b. (i) & (iii) c. (i) & (iii) d. (i), (ii) & (iii) v

28. If the purchase price of a product is Tk. 15,000 and profit
rate is 20% on sales price, then what will be the sales
price?

a. 18,000 b. 18,750V c.14,500 d. 14,400

29. How to get sales price?

a. Total cost + Profitv b. Sales price + Loss

c. Sales price + Profit d. Total cost + Sales price

30. What does the direct wages and production overhead
cost mean together?

a. Conversion costV b. Factory cost

c. Prime cost d. Production cost

31.Which one of the following his capital nature receipt?

a) Subscription received  b) Interest receive

c) Rent received d) DonationV

32. Which one is capital nature expenditure of non-trading

concern?

a) Secretary's salary b) Purchase of bookv

c) Stationery d) Electricity bill

33. Which one is profiteering non-trading concern?

a) Engineer consultant firmv  b) Club

c) Educational institution d) Hospital

34. What is the balance of receipt and payment account

called?

a) Expense b) Revenue  c) Liability  d) Assetv

35. Rent paid is TK 64,000 in receipts and payment account

of Akota club. Of which next year rent TK 4,000. At the end

of the year, 1/5 of the total rent is due. What is the total

rent in the relevant year?

a) TK 60,000 b)TK 68,000 c)TK75,000vV d)TK 76,800

36. Rent paid is TK 64,000 in receipts and payment account

of Akota club. Of which next year rent TK 4,000. At the end

of the year, 1/5 of the total rent is due. What is the amount

of rent due in the relevant year?

a) TK 16,000 b)TK 15,000V ¢)TK 12,800 d)TK 12,000

37. What is the main objective of non-trading concern?

a) Earning of profit b) Exchange of goods or service

c) Distribution of profit among members

d) Provide service to members and publicVv

38. Which one is not shown in the income and expenditure

account?

a) Development of premisesvV b) Maintenance of premises

c) Rent of premises d) Wages of premises keeper

39. What is considered the credit balance of income and

expenditure account in the non-trading concern?

a) Gross profit b) Gross loss

c) Excess of income over expenseV

d) Excess of expense over income

40. When the statement of financial position of non-trading

concern is prepared?

a) at the end of month  b) at the end of year

c) at a specific datev d) at the end of six months

41. Which one is deducted from capital fund?

a) Excess of expense over incomeV b) Closing cash balance

c) Total income d) Subscription

42. Which one is included in receipts and payments account?

a) Capital nature receipts and payments

b) Revenue nature receipts and payments

c) DepreciationV d) All cash receipts and cash payments

43. The interest on the investment is TK 2,400 at annual rate

of 16% given the debit of the receipts and payments account

of a non-trading concern. There is no investment in the

credit side. What is the amount of beginning investment?

a) TK 15,000V b) TK 25,000 c¢)TK 32,000 d)TK 48,000

44. Which one is not a special fund?

a) Annuity fund  b) Capital fundv

c) Rescue fund  d) Sports fund

45. Which is the source of income of non-trading concern?

a) Sales revenue b) Service revenue
c) Interest revenue  d) Subscription of membersv
46. What is the main basis of partnership business?
a) Number of members b) Sustainability
c¢) Contractv d) Consent
47. What is the minimum number of member of a
partnership business?
a)2v b)7 c)10 d)20
48. Which of the following is an impersonal account in a
partnership business?
a) Current account
b) Profit and loss appropriation accountv
¢) Loan account d) Drawings account
49. In the case of partnership business, which of the
following is not correct in the absence of an contract?
a) All partners will receive equal dividends
b) The partners will not receive interest on the capital
c) No partner will be paid salary to run the business
d) The partners will get 5% interest on the loan providedV
50. If the partners make withdrawals on the last day of each
month, what is the average time to hold interest?
a. 6.5 months b. 5.5 months (Ans) Vv
¢. 2.5 months d. 1.5 months
51. Partners current account includes-
(i) Additional capital
(i) Interest on capital and interest on drawing
(iii) Distributed profit
Following which one is correct?
a. Anirudhi&ii  b.ii &iii (Ans)V
c. i&iii d. i,ii& i
52. A, B and C are three partners of a partnership firm. Each
of them withdrawn TK 1,000 cash on the first day of every
month. How much interest will be charged on each partner's
total withdrawal at 6% interest?
a)Tk720 b)TK390V ¢)TK360 d)TK330
53. If Mr. Masud withdraws a certain amount of money
every three months, how many months interest is charged
on it?
a) 2.5 months  b) 4.5 months
¢) 1.5 monthsv  d) 3.5 months
54. A partnership firm is dissolved-
(i) In case of death of partners (ii) If the partner is mad.
(iii) If the partner is bankrupt
which one is correct?
a.i&ii b.ii &iii  c.i&iii  d.i,ii&iii (Ans)V
55. What does it mean to register a partnership business?
a) Registration of partners b) Registration of contract
c) Registration of partnership deed of agreementv
d) Registration of the location of business
56. Interest on drawings in fluctuating capital method
should be shown -
(i) on credit side in profit and loss appropriation account
(ii) on debit side in partners capital account
(iii) on debit side in partners current account
Which one is right?
a)iandiiv b)iandiii c)iiandiii d)i,ii and iii
57. Under which year law partnership business is formed?
a) 1913 b) 1932V ) 1991 d) 1994
58. If the partners withdraw at the beginning of each month,
what is the average time to hold interest?
a)55 b)6 c)6.5V d)12
59. What will be the interest rate on a loan given by a
partner in a partnership business if not mentioned in the
contract?
a)5% b)6%V c)7% d)8%
60. Where the capital of the partners is fixed, the interest on
the capital and the interest on the drawings are recorded in -
a) drawings account b) capital account
c) current accountV  d) Miscellaneous account
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Dhaka Commerce College
4" Term Exam 2020
Class: Xll

Subject: Production Management and Marketing (1°'& 2" Paper)

Time: 1 Hour
. What is the full form of BSTI?
. Bangladesh Standardization and Testing Institution
. Bangladesh Standards and Testing Institute
. Bangladesh Standards and Testing Institution v
. Bangladesh Standard and Test Institution
. When was ISO established?
.1947 v b.1951 c.1985 d.1989
. The principles of quality assurance are — i. Fit for purpose; ii.
Taking corrective measures if needed; iii. Right first time. Which of
the following is correct?
a.iandii  b.iandiiiv c.iiandiii d. I, iiand iii
4. Which element is excluded from quality management?
a. Quality Planning b. Quality Control
c. Assurance of Selling v d. Quality Improvement
5. which of the following is responsible for producing poor quality
product?
a. Inefficient sales personnel b. Low quality advertisement
c. Inadequate promotional activities
d. Low quality raw materials v
6. Mr Riad is a production manager of a garments producing
business organization. Recently he has noticed that the finishing task
of some of the garments has not completed properly during the
production goes on. So, Mr. Riad ordered his personnel to perform
the finishing task again for those garments to ensure the highest
quality of all the garments. The instruction that Mr. Riad gave to his
personnel to maintain the highest quality of the garments will
increase what sort of expenditure of the business organization.
a. Prevention b. Appraisal
c. Internal Failure v d. External Failure
7. The principles of 1SO-14000 are — i. Environmental Management
System; ii. Environment friendly packaging; iii. Life-cycle
assessment. Which of the following is correct?
a.iandii b.iandiii c.iiandiii d.i,iiandiii v
8. Healthcare Pharmaceuticals Ltd added a hand wash named
“Safety Hand Wash” in their product category by considering the
present Corona situation. But at the initial phase the hand wash
produced by the organization has been appeared to be having low
quality. So, the organization has to bear extra expenses in collecting
and analyzing statistical data and informationin order to develop the
quality of the product.What sort of expenditure have taken place due
to such activities?
a. Prevention b. Appraisal v
c. Internal Failure  d. External Failure
9. Which of the following document provides instructions to the
organizations and the customers or consumersin using and selecting
standard quality?
a.1SO-9000 v b.I1SO-9001 c.ISO—-9002 d. ISO—9003
10. Healthcare Pharmaceuticals Itd added a hand wash named
“Safety Hand Wash” in their product category by considering the
present Corona situation. Considering the health hazard and safety of
the people of the society, Healthcare Pharmaceuticals set a standard
quality for the hand was in order to produce an effective and quality
hand wash. Later on, they ensured that the hand wash was being
produced as per the standard set previously and corrective measures
were taken if necessary. Here the organization is following which of
the phase of historical background of quality management.
a. Quality Control v b. Quality Assurance
c. Quality Improvement d. Total Quality Management
11. Mr. Riad is a Production Manager of a garments producing
business organization. He emphasizes the participation of every
personnel of the organization in every work in order to improve the
quality of the garments sequentially. Mr. Riad has emphasized on
which of the phase of historical background of quality management.
a. Quality Control b. Quality Assurance
c. Quality Improvement d. Total Quality Management v
12. Consequences of producing low quality product are— i.Increase
of expenditure; ii. Increase of liability; iii. Increase of Productivity.
Which of the following is correct?
a.iandiiv b.iandiii c.iiandiii d.1i,iiandiii
13. In which of the following product re-design cost is included?
a. Prevention v b. Appraisal
c. Internal Failure  d. External Failure
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14. What sort of expenditure is warranty?

a. Prevention b. Appraisal

c. Internal Failure d. External Failure

15. Failing to achieve the expected level of production is called —

a. Failing to work collaboratively with suppliers

b. External Failure

c. Yield losses v d. Evaluation Failure

16. Which one is the feature of peak capacity?

a. Reasonable cost b. Use of machinery

c. Short term production v d. Long term production

17. Which production capacity considers net production amount as a
standard of production capacity?

a. Peak b. Effective c.Rated d. Actual v

18. Which one is excluded from the reasons of using low production
capacity?

a. Low market share b. Excessive supply

c. Decreasing market demand d. Decreasing material price v

19. The yearly production of “Raima Limited” is 20 lakhs units of
products. But the company produces 18 lakhs units of products. So
that the average cost remains low and the company earns huge profit.
Which production capacity is used by “Raima Limited” in the given
stem?

a. Peak Db. Effectivev c. Rated d. Actual

20. Production capacity measurement systems are- i. Material; ii.
Production; iii. Inventory.

Which one is correct?

a.iandiiv b.iandiii c.iiandiii d.i,iiand iii

21. The yearly production capacity of Shahjada Garments is 85 crore
units of products. In 2019 the company produces 75 crore units of
products. Though they can earn more profit if they produced 78
crore units of products. What is the maximum utilization rate of the
company in 2019?

a.113.33% b. 96.15% c.91.76% d. 88.23% V

22. Zaman Company Limited produces 23,000 units of products
each year though it is able to produce 25,500 units of products.
Recently the manager of this company found out that the cost of the
company can be minimized if they produce 21,500 units of products.
What is the maximum utilization rate of Zaman Company Limited?
a.90.19% v b.110.87% ¢.84.31% d.106.98%

23. Zaman Company Limited produces 23,000 units of products
each year though it is able to produce 25,500 units of products.
Recently the manager of this company found out that the cost of the
company can be minimized if they produce 21,500 units of products.
What is the effective utilization rate of Zaman Company Limited?
a.90.19% b.106.97 v ¢.84.31% d.118.60%

24. Ruhi Fashion Limited produces 15,000 pieces of dresses though
it is capable of producing 18,000 pieces of dresses. If the company
produces 16,000 pieces of products it can earn more profit. What is
the system efficiency of Ruhi Fashion Limited?

a.120% h.112.5% ¢.93.75% Vv d.83.33%

25. Ruhi Fashion Limited produces 15,000 pieces of dresses though
it is capable of producing 18,000 pieces of dresses. If the company
produces 16,000 pieces of products it can earn more profit. What is
the unused production capacity of Ruhi Fashion Limited?

a.6.25 b.16.67% ¢.6.25% d.16.67

26. The yearly production capacity of Ridoy & Co. is 10 crore units
of products. But the company generally produces 5 crore units of
products. The authority became upset as they cannot achieve their
target. What is the peak / maximum utilization rate of Ridoy & Co.?
a.25% b.50% v  c.75% d.100%

27. The yearly production capacity of Ridoy & Co. is 10 crore units
of products. But the company generally produces 5 crore units of
products. The authority became upset as they cannot achieve their
target. To reduce the tension the company can do the following-

i. Motivating the employee

ii. Developing the distribution system

iii. Using modern technology

Which one is correct?

a.iandii  Db.iandiiiv  c.iiandiii  d.i,iiand iii

28. Which type of retail organization buys products at a lower price
than the wholesale price and sells products at a lower price than the
retail price?



a. Discount store b. Hyper market

c. Off price retail store v d. Limited service retail store

29. “Play Mart” is a retail store selling only sports items. It sells bat,
ball, racket, jerseys etc. Each salesperson has much knowledge about
the products. That’s why the customers buy the products without
hesitation. Which type of retail store “Play Mart” is?

a. Specialty store b. Category killer v

c. Super store d. Warehouse club

30. Problems of wholesaling business are-

i. Lack of warehousing facilities;

ii. Transaction of limited products;

iii. Lack of market information.

Which one is correct?

a.iandii  Db.iandiiiv c.iiandiii d.i,iiand iii

31. “Sparkle and shiny Itd” is a renowned soap producing
organization. Recently that organization announces to give 10%
extra soap in its new packet for the whole month of December and
achieves massive customer response.

Which type of sales promotion strategy is used by the organization?
a. Bonus b. Coupon c. Price reduction d. Premium v

32. “Sparkle and shiny Itd” is a renowned soap producing
organization. Recently that organization announces to give 10%
extra soap in its new packet for the whole month of December and
achieves massive customer response. The benefits get by the
organization by using that strategy are-

I. Increase sales ii. Product awareness

iii. Competition reduction

Which one of the following is correct?

a i&iv  b.i&iii  c.ii&iii  d.iii&iii

33. Which one of the following is consumer focused sales promotion
strategy?

a. Samplingv b. Buying allowance

c.Push money d. Bonus

34. “Oneida toy Itd.” is a toy producing organization. This month for
their newly launched Barbie toy. To increase the sales it gives
coupon to its customers so that they can purchase that toy in lower
price. This strategy is called what?

a. Advertising b. Personal selling

c. Sales promotion v d. Public relation

35. Which one is the characteristic of advertising?

A. Unpaid presentation B.Verbal presentation

C. Personal presentation C. Non personal presentation

36. Which one is the considered factor of advertising media
selection?

a. Nearness of market b. Number of competitor

c. Government instructions v d. Increasing standard of living

37. Which one of the following is used to present outdoor
advertising?

a. Double Decker bus b. Wall of building v

c. Cinema of cinema hall ~ d. Internet and website

38. “Folita” is an excellent organic fertilizer producing by “Brion
fertilizing”. This organization gives tk. 2000 per month to its every
dealer so that they promote Folita to the farmers. This strategy of
sales promotion is called what?

a. Premium b. Display allowances

c. Push money v d. Exhibition

39. Which one of the following is suitable advertising media for
industrial product?

a.Radio b. Television  c. Newspaper d. Trade Journal v

40. Publicity is exposed on behalf of whom?

i. Behalf of the Well-known newspaper

ii. Behalf of the organization itself

iii. Behalf of the Third party

Which one of the following is correct?

a & i&iiiv c ii&iii d. i, ii &iii

41. Publicity is a part of what promotion tools of marketing?

a. Advertising b. Personal selling

c. Public relation v d. Direct marketing

42. The organization “Abaira 1td.” is signing an agreement with its
re-sellers that if they purchase 20000 pieces of cutting machine from
the company throughout this month then the company will provide
10% discount in the total price of their purchase. This strategy of
sales promotion is called what?

a. Buying allowances v b. Push money

c. Display allowances  d. Gift

43. “Triangle pharmaceutical” is a renowned medicine producing
company. It arranges conferences for its medical representative
officers every year in Cox’s Bazar to provide training and
encouragement. This strategy is called what?

a. Advertising b. Personal selling

c. Public relation c¢. Sales promotion v

44, Which one of the following is a sales promotion strategy?
a. Bill Board b. Public welfare activities
c. Exhibition v d. Neon sign
45. Which hindrance can be prevented by advertising?
a. Time b. Ownership c.Risk  d. Knowledge v
46. Which work does the wholesaler perform for the producer?
a. Financing b. Employment
c. Supply of raw materials d. Improvement of living standard
47. Who is the full service wholesaler?
a. General line wholesalers v b. Cash and carry wholesalers
c. Drop shippers d. Rack jobbers
48. What kind of wholesaler takes title to the product?
a) Merchant wholesalers v b) Brokers
¢) Agent wholesalers
d) Manufacturers and retailer branch offices
49. Mr. Babul and his friend went to a large retail store in Seoul,
Korea. There are a variety of products that were sold through
different departments in the same building. In this shop different
types of services are also provided to the consumers.
What kind of retail store Mr. Babul went to in the given stem?
a. Multiple store b. Super market
c. Department store v d. Chain store
50. Those who buy products for resale are known as- i) Wholesaler
ii) Retailers iii) Agent
Which of the following is correct?
a)iandii b)iandiii c)iiandiiid)i,iiand iii
51. Who is benefited from after sales service given by retailers?
a) Society b) Producer c) Buyers v d) Suppliers
52. Which benefit can be gotten through benchmarking?
a. Increase of product quality
b. Assurance of product quality v
c. Increase of product inventory
d. Increase of production cost
53. Non-store retailing is —
i) Telemarketing ii) Category killer iii) Automatic Vending
Which one is correct?
a)iandii b)iandiiiv c)iiandiii d)i,iiand iii
54. The Leather Tex Company produces bags in its own factory and
sells them through its own showrooms in other cities of the country
including Dhaka without the help of distribution members. That’s
why they can earn comparatively more profit than others. What kind
of company is “Leather Tex”?
a) Chain store  b) Department store
c) Super store  d) Multiple store v
55. The Leather Tex Company produces bags in its own factory and
sells them through its own showrooms in other cities of the country
including Dhaka without the help of distribution members. That’s
why they can earn comparatively more profit than others. The
reasons for the success of the Leather Tex company are—
i) Less overhead costs
ii) Own management and administration
iii) Avoidance of intermediaries
Which of the following is correct?
a)iandii  b)iandiii c)iiandiiiv d)i,iiand iii
56. What is the name of the intermediary who helps in buying and
selling on the basis of agreement between buyers and sellers?
a) Faria b) Wholesaler c) Retailer d) Broker v
57. Mr. Nusair gets the responsibility of selling all the products of
“Splenda Electronics”. He also plays an important role in fixing the
product price. What type of intermediary is Mr. Nusair?
a. Manufacturers agent  b. Industrial distributor
c. Selling agent v d. Purchasing agent
58. The responsibilities done by the wholesaler towards the society
is—
i) Market expansion i) Creating employment
iii) Improvement of standard of living
Which of the following is correct?
a)iandii  b)iandiii c)iiandiiiv  d)i,iiandiii
59. “Ruposhi Bangla” Enterprise is a wholesale business. It collects
orders from retailers and sends them to the manufacturer. The
manufacturer then delivers the product to the buyer. What kind of
wholesaler is “Ruposhi Bangla”?
a) Cash and carry wholesalers b) Truck wholesalers
c) Drop shippers v d) Rack jobbers
60. What is the similarity between department store and multiple
store?
a. Decentralized selling b. Centralized management v
c. Decentralized buying d. Centralized selling
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DHAKA COMMERCE COLLEGE
4™ Term Exam 2020
Class: XII

Subject: Finance, Banking and Insurance 1% & 2™ Paper

Full Marks: 60

Subject Code: 292 & 293
Time: 60 minutes

1. Which of the following sources has the lowest cost of
capital?

a) Common stock b) Preferred stock

¢) Bond v d) Retained earnings

2. What is paid to ordinary shareholders in return?

a) Interest b) Dividendv  c¢) Wages d) Fee

3. What is called the minimum rate of return for a new
investment project of an organization?

a) Cost of capital v b) Interest on investment

¢) Rate of return d) Dividend

4. Aziz Co. Ltd. Sells bonds of Tk 1, 00,000 at 20% interest. If
the tax rate is 40%, what will be the cost of debentures?
a)8% b)12%v c)16% d)20%

5. Which is included in calculation of weighted average cost
of capital-?

i) Cost of debt capital i) Cost of equity & preferred stock
iii) Current cost of capital

Which one is correct?

Q)i &iiv  b)i&iii  c¢)ii&iii  d)i, ii &iii

6. What is considered in determining the cost of equity capital
with the help of CAPM?

i) Market rate of return

ii) Tax rate iii) Risk free rate of return
Which one is correct?
a) i &ii b) i &iiiv c) ii &iii d) i, ii & iii

7. Remax Company's cost of debenture, cost of common share
and cost of preferred shares are 9%, 11% and 13%
respectively. Their weight of capital is 30%, 50% and 20%
respectively. What will be the weighted average cost of capital
of the company?

a) 9.30% b) 10.80% v ¢)11.60%  d) 12.20%
Read the following stem and answer the question number 8 & 9:
Janata Limited paid a dividend of Tk 40 per common share
last year. The annual dividend growth rate is 10% and the
current market value of each share is Tk 480.

8. What will be the cost of common stock of Janata Limited?
a) 12.05% b) 16.73% €) 19.17%v  d) 20.81%
9. If the personal tax rate is 25%, then what will be the cost of
retained earnings of Janata Limited?

a) 11.76% b) 12.32% ¢) 13.91% d) 14.38% v
10. Which one is correct —
i.Kp= 22 ji.Ke= 2 +g

NSV Po

iii. WACC = (KpxWp) + (KdxWd) + (KexWe)

Which one is correct -

a) i &ii b) i &iii  c)ii &iii d)i, il &iiiv

11. What is called by long-term capital investment decision?
a) Cost of capital b) Capital budgeting v

c) Capital rationing d) Capital structure

12. What does it mean that if one project is accepted, the other
project must be canceled?

a) Independent projects b) Complementary projects
c¢) Mutually exclusive projects v d) Dependent projects

13. The methods of capital budgeting in which time value of
money is considered are-
i) Payback period

iii) Internal rate of return
Which one is correct?

a) i &ii b) i &iii C)ii &iiiv  d)i, ii &iii

14. What is meant by allocating capital on priority basis
judging the profitability of the project?

a) Cost of capital b) Adequacy of capital

c) Capital budgeting d) Capital rationing v

15. The initial investment of a project is Tk. 1, 00,000. Cash
inflows are Tk. 30,000, Tk. 50,000 and Tk. 60,000
respectively. The discount rate is 12%. What will be the net
present value of the project?

ii) Net present value

a) Tk. 8,664 b)Tk.9,353v  c¢) Tk. 11,422 d) Tk. 12,642
Read the following stem and answer the question number 16 & 17:
Sun Moon Company purchases a machine by Tk. 1, 30,000.
Its life time is 4 years and salvage value Tk. 10,000. Earnings
after tax will be achieved Tk. 15,000, Tk. 20,000, Tk. 25,000
and Tk. 35,000 respectively.
16. What will be the annual depreciation of the machine?
a) Tk. 26,000 b) Tk. 32,500
c) Tk. 30,000 v d) Tk. 35,000
17. What will be the average rate of return of the machine?
a) 28.65% b)30.33% ) 33.93% v d)34.73%
18. Which one is the traditional methods of capital budgeting ?
a) Pay-back period v b) Internal rate of return
¢) Net present value d) Discounted pay-back period
19. Advantages of payback period are —
i. Consider the cash flows
ii. Considering how quickly the invested money is returned
iii. Consider the time value of money
Which one is correct —
Q)i &iiv  b)i&iii  c)ii &iii  d)i, ii &iii
20. Which project is accepted in the followings?
a) IRR is lower b) ARR is lower
c) NPV is positive v d) PBP is higher
21. What is the relationship between investment and rate of
return?
a) Positive v b) Negative
Answer: a. Positive
22. The methods of measuring risk are-

i. Standard deviation ii. Probability distribution

iii. Coefficient of variation
Which of the following is correct?
a)iandii  b)iandiiiv c)iiandiii d)i,iiand iii
23. Which of the following is a risk free security?
a) Shares b) Treasury bill v
c) Bonds d) Mutual funds
24. Mr. Rafiqg has invested 60% in Company A and 40%
money in Company B. The rates of return of Company A and
Company B are 10% and 12% respectively. What will be the
portfolio rate of return of Mr. Rafig?
a) 10.80% v b)1250% c¢)15.50% d) 17.50%
Read the following stem and answer the question number 25
& 26:

c¢) Neutral  d) Proportional

Rate of return (%)
Economic Probability Stock-A Stock - B

condition (%) (%)
Good 0.30 18 26
Normal 0.40 16 14
Bad 0.30 12 10

Expected Rate of Return - 16.4

Risk 2.37 6.37

25. What is the expected rate of return of stock A?

a) 14.7% b)154%v c)16.5% d)17.9%

26. Which of the following is applicable for stock A and stock B?
a) The Coefficient of variation of stock A is 36%.

b) The Coefficient of variation in stock B is 15%.

c) Stock A is more risky  d) Stock b is more risky v

27. What is the value of market beta?

a)Zero b)Onev  ¢)Two d) Three

28. If the risk free rate of return is 8%, market return is 15%
and beta of ABC company is 2 then what is the required rate
of return?
a) 20%  b) 22% v

€)23%  d) 25%




29. Systematic risk are
i. Interest rate risk ii. Purchasing power risk

iii. Financial risk
Which of the following is correct?
a)iandiiv b)iandiii c)iiandiii d)i,iiand iii

30. Cash flow from a security investment-

i. It can be zero ii. It can be positive

iii. It can be negative

Which of the following is correct?

a)iandiiv b)yiandiii  c)iiandiii d)i,iiand iii
31. What is the exchange value of taking risk?

a) Annuity b) Bonus c¢) Premiumv d) Cash

32. What is the general element of insurance contract?

a) Insurable interest b) Proportionate contribution

c) Subrogation d) Proposal v

33. What is it called if the risk of loss is less than normal?

a) Super- standard risk v b) Standard risk

c) Sub- standard risk d) Less standard risk

34. Which of the following is the regulatory authority of
insurance business in Bangladesh?

a) IRDA b) IDRAv c¢)BADC d)BIDC

35. Which of the following is excluded from property
insurance?

a) Cattle insurance  b) Theft insurance

c) Crop insurance  d) Employees insurance v

36. An insurance contract is called a contract of indemnity,
because-

i) The insurer pays even if there is no loss

ii) The amount of compensation does not exceed the sum
insured

iii) Compensation is due only in case of loss

Which of the following is correct?

a)iandii b)iandiii c)iiandiiiv d) i, iiand iii

37. In the case of insurance, the significance of the principle of
fiduciary relationship is-

i) To refrain from acts of betrayal

ii) Trusting both parties

iii) Disclosure of all necessary information

Which of the following is correct?

a)iandii b)iandiii c)iiandiii d)i,iiandiiiv

38. Which of the following is included in personal insurance?
a) Life insurance v b) Accident insurance

c) Fidelity insurance  d) Product liability insurance
Answer the question by reading the following stem.

Mr. Zaheer has been living in a rented house for a long time.
When he wanted to insure the building in his own name, the
insurance company refused his offer.

39. What kind of insurance did Mr. Zaheer want to insure?
a) Life  b)Firev  c)Fidelity d) Liability

Answer the question by reading the following stem.

Mr. Zaheer has been living in a rented house for a long time.
When he wanted to insure the building in his own name, the
insurance company refused his offer.

40. What is the reason for rejection of offer by insurance
company?

a) Lack of utmost good faith b) Lack of insurable interest v
c) Excess of risk  d) Problems related to proximate causes
41. Which insurance is called a contract of certainty?

a) Lifev  b) Marie c) Fire d) Crops

42. The premium rate is higher on which type of life insurance
policy?

a) Group b) Endowment v ¢) Term d) Whole life
43. In case of life insurance in which one of the following has
no insurable interest?

a) Parents in the life of the child b) Wife in husband’s life
¢) Husband in wife’s life  d) Debtor in the life of a creditor v
44. The oldest insurance is —

a) Accident b) Life c) Fire d) Marine v
45. What is Lloyds ?
a) A coffee shop b) An insurance company v

c) Organization taking Insurance Liability
d) Anindividual

46. Where the introduction of marine insurance first began?
a) InUSA  b) InGermany c) InEngland d) In Italy v
47. In case of what type of insurance only the insurance claim
is met if the insured dies ?

a) Joint life b) The last survivorship

c) pure endowment d) Whole life v

48. In the case of which one of the following, double
insurance cannot be taken?

a) Marine b) Fire c¢)Lifev
49. Mortality table is —

a) Mortality rate per century b) Mortality rate per year

c) Mortality rate per thousand v d) Per person mortality rate
50. Which of the following is an Implied warranty of a marine
insurance contract?

a) Legality of the voyage v b) Date of voyage

c) Legality of insured goods  d) Manage sea caravans

51. What does it mean if in times of marine perils to lighten
the ship product is thrown into the sea?

a) Jettison v b) Expenditure

c) Salvage charge d) Special charge

52. The market value of Toroni ship is tk. 15,00,000 .An
insurance policy of Tk. 9,00,000 was taken for the ship. The
loss is Tk. 5,00,000. If it is a valued insurance policy, then
determine the amount of compensation .

a) 2,50,000 b) 3,00,000 v

c) 5,00,000 d) 9,00,000

53. Which is the proof of age in case of life insurance?

i) Birth registration certificate

ii) Certificate of education iii) Passport copy
Which of the following is correct?

a) iand ii b) i and iii ¢) ii and iii

54. Surrender value is available —

i) After surrendering the insurance policy

ii) If at least two annual installments are paid
iii) If the insurer refuses to execute the contract
Which of the following is correct?
a)iandiiv  b)iandiii c) ii and iii
55. The type of particular partial loss is —
i) Total damage to the ship ii) Partial loss of product
iii) Partial loss of freight

Which of the following is correct?

d) Vehicles

d) i, ii and iii v

d) i, ii and iii

a) i and ii b)yiandiii c)iiandiiiv d) i, ii and iii
56) Natural marine perils is —

i) Ocean waves ii) Hail iii) Explosion

Which of the following is correct?

a)iandiiv b)iandiii c)iiandiii d)i,iiand iii

Read the stimulus below and answer the question no. (57) & (58) :
Mr. Neil presented his term insurance policy to pay the
insurance claim. Where his actual age was 53 but he
mentioned 46 years in the insurance policy.

57. In the stem which insurance policy is violated by Mr.
Neil?

a) Premium b) Insurable interest

c¢) Utmost good faith v d) proportional contribution.

58. In this case the insurance company has to do —

a) To refund the Premium

b) Payment of insurance claim as per contract

c) To pay the surrender value d) Rejection of insurance claim v
Read the stimulus below and answer the question no. (59) & (60) :

Mr. Dipto signed an insurance contract with the Venice
Insurance Company for his ship. Where he mentions the route.
According to the agreement , the ship will leave Mongla port
on 1% April and reach in Korea port on the 15" May. On the
way, the ship is about to sink due to marine perils and the
sailor shifts some goods to another ship. It costs Tk. 3 lakh.
59. What kind of loss is the cost of Tk. 3 lakh mentioned in
the stem?

a) Jettison b) Total loss c¢) Salvage charge d) Expenditure v
60. What kind of insurance policy Mr. Dipta has taken?

a) Blanket b)Mixed v c) Voyage d) Time
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Dhaka Commerce College
4" Term Exam 2020

Sub: Statistics 1st and 2nd Paper

Time: 60 Minutes

Subject code: 129, 130
Marks: 60

1. If y=2x+1, then what is the value of correlation coefficient
between X & y?

a.-1 b.0 ¢098 d.1v

2. Read the following information: i. correlation coefficient
lies between -1 to 1; ii. correlation coefficient independent of
origin and scale; iii. correlation coefficient is a number with
unit.

Which one of the following is correct ?

ai&iiv  b.i&iii cii&iii d.i, il &iii

3. Read the following information: i. Geometric mean of two
regression coefficient is equal to correlation coefficient ; ii
Arithmetic mean of two regression is equal or greater than
coefficient correlation coefficient iii. Regression coefficient is
a number with unit.

Which one of the following is correct ?

a i &I b.i&iii coii&iii d. i i &iiiv

4.1f b;=-0.94 and b,=-1.01 then what is the value of
correlation coefficient ?

a.-095 b.095 ¢.-097v d. 097

5. What is the limit value of correlation coefficient ?
a.-l<r<1 b.0<r<l c.-1<r<1v d.0<r<l1

6. What kind of relationship exist between x & y ?

X=10, 20, 30,40,50 Y= 5,10, 15, 20, 25

a. Semi positive correlation

b. Perfect positive correlationv

c. Semi negative correlation

d. Perfect negative correlation

7. What is the correlation coefficient between x and (a-x) ?
a.-1v b.0 ¢ 050 d. 1v

8. Which one of the following is correct ?

a.r>1 b.r<-1 cr=1v d r=15

9. Example of positive correlation- i. Income & Expenditure ;
ii. Income & Savings ; iii. Price & Demand .

Which one of the following is correct ?

a i &iiv b.i&iii c.ii&iii d. i, ii &iii

10. If the one variable affect the changes of another variable
proportionately in same direction, then the relationship
between two variable is-

a. Semi positive correlation

b. Perfect positive correlationv

c. Semi negative correlation

d. Perfect negative correlation

11. Diagrammetric way of representing bivariate data is
called-

a. Bar diagram b. Line diagram

c. Piechart d. Scatter diagramv

12. The data set of two related variable of a population is
called-

a. Univariate data b. bivariate datav

c. Correlation d. Regression

13. How many components of time series ?

a2 b.3 cd4v db5

14. ‘In winter demand of warm cloth increase’- which
component indicate this statement.

a. Secular trend b. Seasonal variationv

c. Cyclical variation d. Irregular variation

15. ‘Economic condition of Bangladesh changed due to
Cylone’- which component affect this change.

a. Secular trend b. Seasonal variation

c. Cyclical variation d. Irregular variationv

16. How many methods of determining trend of time series ?
a.2 b3 c.4v d.5

17. How many phases of cyclical variation ?

a.2 b.3 c.4v d5

18. “If long time fluctuation (downward-upward) occur in time
series, it is called-

a. Secular trendv b. Seasonal variation

c. Cyclical variation  d. Irregular variation

19. Mathematical model of time series; i.Y =T+ S+ C+ 1, ii.
Y=T+S+C+Kk,iii. Y=TxSxCx|

Which one of the following is correct ?

a1 &Il b i&iiiv c.ii &iii d.i,ii &iii

20. Example of Seasonal variation; i. Cold drinks in Summer,
ii. New dress in Eid , iii. Warm clothes in winter . Which one
of the following is correct ?

a. i &ii b i&iii cii&iii d. i i &iiiv

21.In which method 1* & last year data can not be found in
determining trend ?

a. Method of free hand b. semi average method

c. Moving average methodv d. Least square method

22. Arrangement of statistical data in chronological order i.e,
in accordance with occurrence of time, is known as-

a. Correlation b. Time seriesv

c. Regression d. Published statistics in Bangladesh

23. Which is the source of published statistics in Bangladesh ?
a. Bangladesh Bureau of statistics (BBS) v

b. World Bank  ¢. UNESCO d. BRAC

24. After how many years census conduct?

a.5year b.8year c.l1l0yearv d.12year

25.In which ministry BANBEIS attached ?

a. Agrecultural Ministry  b. Food Ministry

c. Education Ministryv  d. Information Ministry

26. Bangladesh Bureau of statistics (BBS) established on the
year-

a.1972 b.1974 ¢.1977v d. 1980

27. Publications published by Bangladesh Bureau of statistics-
i. Bangladesh statistical year book ; ii. Monthly Statistical
Bulletin of Bangladesh; iii. Statistical Digest of Bangladesh
Which one of the following is correct ?

a i &ii b i&iii cii&iii  d.i ii &iiiv

28. What is the meaning of BANBEIS

a. Bangladesh Bureau of Statistics

b. Bangladesh Institute of Science

c. Bangladesh Bureau of Educational Information and
statisticsv

d. Bangladesh Business Education Information Science

29. 1* census conducted in independent Bangladesh-

a. Inthe year 1971  b. In the year 1972

c. In the year 1974v d. In the year 1975

30. Which is the source of published non govt. statistics in
Bangladesh ?

a. Education Ministry

b. Bangladesh Bureau of statistics (BBS)

c. Bangladesh Bureau of Educational Information and
statistics (BANBEIS)

d. Grameen Bankv

31. If Laspeyre’s index number is 120 and Paasche’s index
number is 115, then What is the value of Fisher’s index
number ?

a.110.23  b. 11523 c¢.117.47v d.120.50

32. Which index number is called ideal ?

a. Laspeyre b. Paasche

c. Fisherv  d. Marshall- Edgeworth

33. How many kind of index number ?

a2 b.3v ¢4 db

34. To calculate Fisher’s index number it is used- i.
Arithmetic mean ; ii Geometric mean

iii. Harmonic mean . Which one of the following is correct ?
a.i  b.iiv c.i&ii d.ii&iii




35. To calculate Dorbish- Bowly’s index number it is used- i.
Arithmetic mean ; ii Geometric mean

iii. Harmonic mean . Which one of the following is correct ?
aiv biii ci&ii d.ii&iii

36. Which index number satisfied the Time Reversal Test and
Factor Reversal Test ?

a. Laspeyre b. Paasche

c. Marshall- Edgeworth  d. Fisherv

37. Which method is used to determining purchase power of
Taka ?

a. Price index number

b. Quantity index number

c. Cost of living index numberv

d. Value index number

38. Which index number consider base year quantity as weight
?

a. Laspeyrev b. Paasche
c. Marshall- Edgeworth  d.Fisher

39. If Laspeyre’s index number is 117 and Paasche’s index
number is 115, then What is the value of Dorbish-Bowley’s
index number ?

a. 114

b. 116v

c. 120

d. 121

40. Base year affected in case of ; i. Political instability, ii.
Flood , iii. Earth quark .

Which one of the following is correct ?

a i &ii b i&iii  cii&iii d.i, ii &iiiv

41. If a sample of size 2 is selected without replacement from
the population {4, 6, 8}, then the possible sample points are-
a. {(4,6), (4,8) } b. {(4,6), (4,8), (8,8) }

c.{(4.6), (48), (6.8) }v d.{(4,6),(6,6),(6,8)}

42. If a sample of size 2 is selected without replacement from
the population {2, 4, 6}, then what will be mean of the sample
mean ?

a.2 b.4v c¢.6 d8

43. In case of selected random sample - i. Sample mean is an
unbiased estimate of population mean, ii. Mean of the sample
mean is equal to population mean , iii. Each element of a
population is equal chance of being selected in the sample .
Which one of the following is correct ?

a. 1 &ii b i&iii c.ii&iii d. i, ii &iiiv

44. If sample size increase ,then sampling error-

a. Lessv b.More c.Equal d.Zero

45. Unknown characteristics of a population is called-

a. Sample b. Statistic ¢. Parameterv  d. Sampling
46. The sampling method in which candidate selected by viva
voce is called-

a. Simple random Sampling  b. Objective samplingv

c. Stratified sampling d. Cluster sampling

47. Which is the largest sample?

a.n>30v b.n>20 c.n<30 d.n#30

48. The method in which data collected from each element
from the population is called-

a. Sampling b. Censusv

c. Sample survey d. Simple random sampling

49. Representative part of a population is called-

a._Samplev  b. Sampling
c. Census d. Sample survey

50. If a sample of size 2 is selected without replacement from
the population of size 5 then total sample points will be-
a.b b.10v c. 15 d. 20

51. To determine population growth rate: - i. Geometric
method, ii. Exponential method , iii. Natural Growth Rate.
Which one of the following is correct ?

a. i &ii b.i&iii  cii&iii  d.i, i &iiiv

52. To determine birth rate how many age group of fertile
women ?

a5 b6 c7v d10
53. Relation of GRR & NRR -
i. GRR > NRR, ii. GRR < NRR,iii. GRR =NRR.

Which one of the following is correct ?

a. 1 &ii b i&iiiv c.ii&iii d.i, il &iii

54. If in a town dependent population 48500 & active
population 188600, then what is the dependency ratio?
a.25.72%v b.26% ¢.27.95% d.29.72%

55. Internationally consider dependent-

a. Population of age 0-14 years

b. Population of age 65 years and above

c. Population of age above 60 years

d. Population of age 0-14 years and Population of age 65
years and above. v

56. The ratio of total live birth of a year and total female of
age group 15-49 of that year is called-

a. Total fertility rate  b. General fertility ratev

c. Gross fertility rate  d. Age specific fertility rate

57. If population growth rate is 1.2% , What is the doubling
population time ?

a.30.35year  b. 40.20 year
c.50.56 year  d.58.11 yearv

58.1f there are 12,50,000 male and 12,60,000 female
population in a town, then what is the Sex Ratio ?

a.90.20% b.99.21%v c.100.20%  d. 102.60%
59. Sources of vital statistics are- i. Census, ii. Sample
survey, iii. Registration

Which one of the following is correct ?

a. i1 &ii b i&iii ciii&iii  d.i ii &iiiv

60. If in a town total population 150,000 & live birth 4500,
then what is the crude birth rate?
a.15 b.25 c¢.30v d.45
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Full Marks: 60

Dhaka Commerce College
4" Term Examination-2020
Subject: Physics (1 & 2™ Paper)

Time: 60 minutes

1. The frequency of a particle executing simple harmonic
motion is-

a) proportional to its force constant

b) proportional to the square root of its force constant v
c) inversely proportional to its force constant

d) inversely proportional to the square root of its force
constant

2. What will be the frequency of a simple pendulum in the
free space?

a)OHzv b)2Hz c) 1Hz d) Infinity

3. When a particle executing simple harmonic motion
crosses the equilibrium position then its-

a) minimum velocity, maximum displacement

b) minimum velocity, minimum displacement

¢) maximum velocity, maximum displacement

d) maximum velocity, minimum displacement v

4. If a pendulum clock is placed in 10 m depth into the
earth then the clock will-

(i) move fast

(ii) lose time

(iii) move slow

Which is the following correct answer?

a) (i) b)) &(ii) €) (ii) & (iii) v d) (i), (i) & (iii)

5. Which is the example of complex motion?

a) Walking on a straight way

b) Running on a circular path

€) Earth’s motionv

d) Simple harmonic motion

6. Which is the right graph for a simple pendulum of
square of time period (T?) vs acceleration due to gravity

(9)7 (B)

7. The phase difference between velocity and displacement
of a particle which executes SHM-

a0 b)a g)n/2v d) n/3

8. An object which executes simple harmonic motion,
1 2 -

EKA IS-

(i) maximum Kkinetic energy

(if) maximum potential energy  (iii) total energy

Which is the following correct answer?

a) (i) b) (i) & (i) c) (i) & (iii) d) (i), (i) & (iii) v

9. A particle executes this equation 3 Z—’g +27x=0,s0it

have-
(i) angular velocity 3 rad/s
(ii) time period 1 sec

3
(iii) frequency = _—
Which is the following correct answer?
a) (i) & (ii) b) (i) & (iii) v
c) (i) & (iii) d) (i), (i) & (iii)
10. The solution of differential equation of a particle which
executes SHM is x= 0.10 sin (©t+0.2864°). What is the
initial displacement when time period is 3 sec of that
particle?

a)5x10°m b)5x 10*m
e)5x10*mv d)5%10%m
11. A spring which is in SHM has done 0.4 m displacement
to apply 5 N force. Which is the spring constant of that
spring when angular velocity is 7 rad/s?
@) 1.25x 10' Nm~1v b) 1.25% 10" Nm~1
c) 125 Nm~1 d) 8 x1073 Nm™1!

12. A particle of mass ‘m’ is in SHM which executes
acceleration ‘a’ and frequency ‘f’. What will be the
average kinetic energy when it runs from equilibrium to
terminal position?

a)%mazf b)%mazf2

) m*ma*f* v d) 4m’ma®f

13. If temperature of an iron wire is increased then the
Young’s Modulus will-

a) increase b) remain same v

c) decrease d) increase first and then decrease
14. Which is the following parameter has unit ‘Poise’?
a) Surface tension b) Surface Energy

¢) Coefficient of viscosity v d) Poison’s ratio

15. What is the value of product of Bulk Modulus &
Compressibility?

a0 P)lv c¢)10 d) Infinity

16. A5 m long wire with 12 x 10 cm? cross sectional area
has Young’s Modulus of 1 x 10" Nm™. How much work
will be done if it is increased in 2 cm by pulled?

a) 9% Jv b)192J c)384J d) 769 J

17. A5 m long wire with 12 x 10 cm? cross sectional area
has Young’s Modulus of 1 x 10" Nm™. If it is increased in
2 cm by pulled, then-

(i) strain = 0.004  (ii) stress o strain

(iii) stress = 2.48 x 10° Nm™

Which is the following correct answer?

a) (i) & (i) b) (i) & (iii) € (i) & (i) v d) (i), (ii) &
(iii)

18. Which force is responsible for attaching gum on
paper?

a) Coulomb’s force b) Cohesive force

¢) Adhesive force V d) Viscous force

19. The surface tension of liquid depends on-

(i) radius of capillary tube (ii) density of liquid

(iii) position of liquid

Which is the following correct answer?

a) (i) & (ii) b) (i) & (iii)

c) (i) & (iii)  d) (i), (ii) & (iii) V

20. Which parameter has no unit?

(i) Strain

(ii) Compressibility

(iii) Poisson’s ratio

Which is the following right answer?

a) (i) & (i) b) (i) & (iii) V

c) (i) & (iii) d) (i), (i) & (iii)

21. A bubble of soap has diameter 1 cm and surface
tension of soap is 3 x 10% N/m. What is the pressure
difference between inside and outside of the bubble?

a) 20.6 Pa b) 25.6 PaV ¢)30.6Pa d)22.6Pa
22. Contact angle depends on the terms-

(i) temperature (i) nature of solid materials

(iii) nature of liquid

Which is the following right answer?

a) (i) & (i) b) (i) & (iii)

c) (ii) & (iii)  d) (i), (ii) & (iii) V

23. Which parameter is indicated by the tangent of this
given graph?

4

v

F/A

a) Compressibility v
¢) Young’s Modulus

b) Bulk Modulus
d) Breaking weight



24. p and P are the density and breaking stress of a solid
object respectively. Which is the maximum length of that
object when it is in the hanging state without break?

P Pg P p
AV bl o df
25. Which parameter can’t be described by Fermat’s
principle?
(i) Interference of light
(ii) Diffraction of light
(iii) Polarisation of light
Which is the following right answer?
a) (i) b) (i) & (ii)
c) (i) & (iii) d) (i), (i) & (iii) V
26. If there is no atmosphere of the Earth, which will be
the colour of the sky?
a) White b) Blue €) Black v d) Indigo
27. A both sided plane glass is used as a lens, so the power
of the lens is-
a) infinity b) equal to refractive index
c) half of refractive index d) zerov
28. What is the S.I unit of power of lens?
a) m/rad b)m ¢€)rad/mv d) lumen/m
29. The power of lens +10 D indicates that-
a) lens is concave b) focal length is 10 m
c) focal length is -10 m d) focal length is 10 cm v
30. If a glass lens is replaced from air to water, then the
focal length will-
a) remain same b) decrease
c) infinity d) increase v
31. Refractive index of glass with respect to air is 3/2. If
one light year is 8.2x10™ km, what will be the one light
year in glass?
a) 6.267 x 102km b) 5.466x 1012kmv
¢) 5.67x 102m d) 6.133x 102m
32. A light ray incident perpendicularly on a refracted
surface of a prism of V2 refractive index and refracted
along the other surface. What is the prism angle of this
prism?
@) 45.16°v  b) 41.81°

c) 40.79° d) 38.47°

33. In case of minimum deviation of a prism-

M ig=ry  (i)ri=r, (i) 8 = 2(i1- 1y)

Which one is the following right answer?

a) (i) b)) &(ii) e) (ii) & (iii) V d) (i), (ii) & (iii)
34. If the focal length of eye-piece of a telescope is
increased, what about the magnification for the infinite

focusing?
a) Remain same b) Decreases v
c) Infinity d) Increase

35. Which is right graph of refractive index vs wavelength
for a medium? (b)

! u\ d :

36. The radii of curvature of a concavo-convex lens is
equal and refractive index of the element is p. What is the
focal length of the lens?

r 2r
3) 2(p-1) b) (n-1)
€) Infinity v d) Zero

37. The unit of self-inductance-

(1) Wb/m  (ii) Henry  (iii) Volt-sec/amp

Which is the following right answer?

a) (i) b)) & (i) ¢) (ii) & (iii) V d) (i), (ii) & (iii)

38. Due to the current flow in a primary coil, induced total
flux in the secondary coil will-

a) proportional to flow v

b) inversely proportional to flow

c) proportional to square root of flow

b) inversely proportional to square root of flow

39. Induced emf doesn’t depend on-

a) resistance of coilv  b) turns number of coil

c¢) change of flux d) time of flow

40. Magnetic flux of a coil is @ = 5t* — 200t + 150; after
3 sec the magnitude of induced emf is-

a)340Vvv b) 430 V c) 200 V d) 100 V

41. Turn number of a primary coil is half of the secondary
coil of a transformer, what is the voltage of secondary coil
when a cell of 2 V is connected with primary coil?

alVv b)2v g4Vvv d)os5V

42. Self-inductance of a coil is 108 H and turn number is
600 with diameter ‘d’; what is the self-inductance of a
similar coil of 500 turns?

a)0H B)OHvV c) 108 Hd) 216 H

43. A magnet is placed on a surface of area A=i+ 6j
which have magnetic field (i — 0.3j — 3k). What is the
produced magnetic flux on that surface?

a) 0.1 unit b) -0.1 unit  ¢) 0.8 unit d) -0.8 unit v
44. The time interval of changing phase of a supply line
which has 50 Hz frequency-

a) 25sec b)10sec c)0.5sec d)0.01secv

45. The energy is stored in a conducting wire in the form
of-

a) mechanical energy
€) magnetic energyv
46.1 mH =2
(i)10°H (i) 10°pH  (iii) 1 mV-sec/amp

Which is the following right answer?

a) (i) b)(i) & (i) c) (ii) & (iii)  d) (), (ii) & (iii) V
47. Which value of this given hysteresis loop indicates the
magnetic retentivity?

a)

b) electric energy
d) light energy

a)-4 b)0 c¢)10 d)6

48. What is the angle of inclination at the equator of the
earth?

a) 0°v b)45° c) 90° d) 180°

49. The magnetic effect of current was discovered by-
a) Maxwell b) Faraday c) Fleming d) Oerstedv
50. The experienced resultant force of a rest charge at a
place where electric and magnetic field simultaneously
exist is -

a) Electric force v b) Magnetic force

c) Lorentz force d) Electromagnetic force

51. Permanent magnets aren’t used in-

a) Magnetic compass b) Microphone

c) Speaker d) Electric calling bellv
52. The force acting between two parallel current carrying
conductors is-

i) directly proportional to the product of the currents
ii) directly proportional to the length of the considered
conductor

iii) inversely proportional to the square of the distance
between them

Which of the following is correct?

a) (i) & (i) V b) (ii) & (iii)

c) (i) & (iii)  d) (i), (i) & (iii)



53. The following figure indicates-

a) Diamagnetic substance

b) Paramagnetic substance

€) Antiferromagnetic substancev

d) Ferrimagnetic substance

54. Which of the following graph is correct for the
magnitude of the magnetic field (dB) versus current(i)?
(According to Biot-Savart's law) (@)

| { | l dB
i ) a8
- b)gl— ) v

P i

i) by Maxwell's cork-screw law
ii) by Fleming's left hand rule
iii) by Fleming's right hand rule

Which of the following is correct?

a) (i) & (i) b) (ii) & (iii)  €) (i) & (iii) V d) (i), (ii) &
(iii)

56. 1 Wbm™ equals to how much gauss?

a) 10 byl c¢)0 @) 10%

57. A wire of length L/2 carrying a current 'i* is bent into a
circle. What is the magnitude of magnetic field at the
centre of the circle?

a) B= pomi/LL b) B= pomi/2LL

¢) B=2pomi/L Vv d) B= poi/2L

58. If 5 A current flow through a loop with 100 turns and
50 cm radius then the magnetic moment is-

a) 392.7 Am? b) 98.175 Am? v

c) 9.8175 Am? d) 0 Am?

59. An electron of speed 10’ ms™ is entering
perpendicularly with a magnetic field of 5x10 T and
rotates in a circular path. What will be the radius of
circular path of the moving electron?

a)0.114m b)1.14mv c¢)114m d) 114 m
60. A plate of width 10 cm is placed at an angle 30° with a
magnetic field of 10 wbm™. If the drift velocity of electron
is 50x107 ms™ in the plate, then what is the magnitude of
hall voltage?

aQ)25V b)25V ¢) 025V @) 0.025
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Dhaka Commerce College
4™ Term Exam 2020
Class: XII
Subject: Chemistry Subject Code: 176 & 177
Time: 60 Minutes Total Marks: 60

Multiple Choice Questions (MCQ) Tick Mark Right Ans

1. What is the reason of charge neutrality of an atom? 17. Which air pollutant does not contribute to the
a. Equal number of electron and proton v production of photo chemical smog?
b. Equal number of oppositely rotating electron a. H,S b.SO, c.CFCv d.H,SO,
c. Presence of excess electron 18. The way to reduce TDS of water-
d. Centripetal and Centrifugal force are equal I. Using de-ionization process
2. Mass of alpha particle is ........ than that of electron ii. Using carbon filter
- iii. Using distillation process
a. More b.Much more v a. I, i boi i ocoiiy i doi i v
b. Less c. Equal 19. Which type of pollutant decreases the amount of
3. Which one depends on subsidiary quantum number? dissolved oxygen (DO)?
a. Number of shell of atom a. Inorganic pollutant  b. Radioactive pollutant v
b. Number of sub shell in a shell v ¢. Organic pollutant d. Particle type pollutant
c. Principle quantum number 20. What is the ideal value of TDS in water according
d. Position of electron to EPA?
4. The screen of which substance used in alpha a. 100 ppm b. 200 ppm c. 400 ppm d. 500 ppm v
particle scattering experiment? 21. Acceptable value of BOD in drinkable water is —
a. Au b.zZnSv c.PbS  d.NiS a. 1-2 v b.35 c¢.6-9 d 12-16
5. What will be the value of magnetic quantum 22. Which is the main source of TDS?
number when the value of subsidiary quantum a. Industrial waste v b. Vehicle smog
number is 2? b. Acid d. Base
a. 2 b.3 c.4 d.5v 23. What is the name of the largest gas field in
6. Which orbital is impossible to form? Bangladesh?
a. 3fv b.3d ¢ 2p d.1s a. Kailashtila b. Meghna
7. Inwhich region Lyman series of hydrogen atom c. Beanibazar d. Titas v
spectrum lies? 24. In which sector maximum portion of natural gas
a. Visible b. Infrared utilized in Bangladesh?
c. Ultra violet v d. Microwave a. Household
8. Which can be explained by Bohr atomic model? b. Electricity productionv
a. H" b.Be* c. Li* d. He' v c. Transport purpose
9. Which one is composite particle? d. Urea production
a. Meson b. Alpha particle 25. Which one is not a coal mine?
c. Neutrino v ¢. Neutron a. Khalishpur b. Fulbari
10. Which one is the perfect set of quantum numbers b. Rampal v c. Jamalganj
for two outermost shell electrons of Ca? 26. Increase of which parameter is a measure of coal
a. n=4,1=0, m=0, s=-1/2 v quality?
b. n=3, =1, m=0, s=+1/2 a. Nitrogen b. Carbonv c.Oxygen d. Sulfur
c. n=4,I1=1, m=0, s=-1/2 27. What is the source of hydrogen gas in ammonia
d. n=4,1=2, m=1, s=+1/2 synthesis by Haber-Bosch process?
11. With which functional group of enzyme Arsenic a. Atmosphere b. Natural Gas v
(1) reacts to prevent enzyme action? b. CNG d. LNG
a. -OH Db.-SHv c¢.-CHO d.-CO 28. Chemically glass is-
12. The maximum acceptable value of arsenic in a. Basicsalt b. Basic double salt v
drinking water of Bangladesh is- b. Salt c. Acidic salt
a. 0.01ppm b. 0.02ppm 29. Which one is not a raw material of ceramic
c. 0.03 ppm d. 0.05 ppm v production process?
13. Which pollutant enters into the food chain from the a. Culletv b. Feldspar c. Alumina d. Borax
pesticides used in agricultural field? 30. What is the name of the sticky material attached
a. Asv b. Pb c.Cr d.Cd with the cellulose of plant tissue?
14. Diseases encounter in human body if heavy metals a. Cooking liquor  b. Ligninv
incorporate into food chain. c. Filler d. Sizing agent
(1) If 2-3 microgram of Cd stored for per gram 31. In which step of paper production addition of sizing
of creatinine results kidney failure agent occurs
(i) When the Amount of Pd is more than 50 a. Beating b. Paper sheet making
ppb this results still birth b. Refining v d. In digester
(i) Substitution of Fe2+ ion of RBC by Cr3+ ion 32. Which calcareous raw material is used in cement
causes increase oxygen saturation. Which one is production?
correct a. Limestonev  b. Silica
a. Liiv  boi ey i did, i, i c. Alumina d. Iron oxide
15. Which pollutant restricts the photosynthesis of plant|  33. Which substance is mixed with grinded clinker in
and generates Chlorosis? Portland cement production?
a. H,S b.SO,v c¢.CFC d.NO, a. Limestone b.Lime c.Chalk  d. Gypsum Vv
16. Which pollutant is more detrimental compared to
primary air pollutants?
a. H,S b.SO, ¢.CFC d. H,SOu




34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45,

46.

What is the purpose of curing in raw leather

processing?

a. Toremove hair, fat, keratin type compound
from leather

b. To Soften leather

c. Toclean blood and dirt from leather

d. To prevent gangrene v

With which metal in tanning process collagen fibers

of leather are attached?

a. Copper b. Chromiumv  c¢. Chrome yellow

d. Mixture of chromium and silicon

What is the number of sigma bond in ethylene?

a. 1 b. 4 c.5v d.2

Which is the principle product of decarboxylation off

organic acid?

a. Alkene b. Alkyne c. Alkanev

Which metal is used in Wurtz reaction?

a. Nav b.K c¢.Ca d.Ba

Which one is the principle product when hydrolysis

of Grignard reagent occurs

a. Alcohol b. Alkene c. Alkanev d. Alkyne

Which information is correct to produce ethene by

the reaction of alcohol and sulfuric acid?

a. Two mole sulfuric acid and one mole alcohol

b. One mole sulfuric acid and two mole alcohol

c. At first 100 degree Celsius temperature and
after sometime 140 degree Celsius temperature

d. Bothaandcv

Hydrolysis of calcium carbide results production of

a. Methane b. Ethane c. Ethylene d.Acetylene v

Which compound is produced by the reaction of

bromine and alkyne?

a. Red bromo compound

b. Colorless bromo compound v

c. Blue bromo compound

d. Pink bromo compound

Which reaction occurs to produce ethylene from

ethanol at 156-170 degree Celsius temperature in

presence of concentrated sulfuric acid?

a. Addition b. Elimination

c. Dehydration v d. Decomposition

Which one is used in kharasch effect?

a. Hydrogen peroxide b. Organic peroxide

c. Alkyl peroxide d. All of themv

Which mechanism follows reverse Markovnikov’s

rule?

a. Formation of carbonium ion

b. Formation of free radical v

c. Formation of carbonium ion

d. None of these

In which case Markovnikov’s rule is applicable?

a. Addition in symmetric alkene

b. Addition in asymmetric alkene v

C. Substitution in asymmetric alkene

d. Substitution in symmetric alkene

d. Alcohol

47,

48.

49.

50.

51.

52.

53.

54,

55.

56.

57.

58.

59.

60.

A compound forms ozonide by reacting with ozone
and finally produced methanal and ethanol after
acidic hydrolysis?

a. Ethene b. Ethyne c.Propenev d.Propyne
Which products are not produced in ozonolysis of
butene?

a. Methanal and propanal

b. Ethanal c. Ethanal and methanol v

c. None of these

Which reaction is used to identify the position of
double bond?

a. Clemmensen reaction

b. Ozonolysis reaction v

c. lodoform reaction

d. Aldol condensation reaction

What is the elaboration of ZEV?

a. Zeta Emission Voltage

b. Zeta Emission Vehicle

c. Zero Emission Vehicle v

d. Zero Emission Voltage

What is the cell potential of dry cell?

a. 1.25volt b. 1.5 voltv c. 1.6 volt

b. 2.50 volt

Which one is used in lead storage battery?

a. Nitricacid b. Sulfuric acid v

b. Hydrochloric acid d. Acetic acid

The specific gravity of sulfuric acid used in lead
storage cell-

a. 1.25v b.1.20 c.1.15 d. 1.10

Which one is rechargeable?

a. Drycell b. Alkali fuel cell

b. Lithium battery c. Lithium ion battery v
Which one is used as electrolyte in hydrogen fuel
cell?

a. KOHvV b.NaOHc. LiOH d. RuOH

Which one is eco friendly?

a. Fuel cellv

b. Lead storage battery

c. Cadmium battery

d. Lithium ion battery

Which one is used as catalyst in hydrogen fuel cell?

a. Na b.Pd c.Ptv d.Pu
EMF of hydrogen fuel cell is-
a. 0.76v b.1.70v c. 123vv dl1l34v

Which is used in the anode of dry cell?
a. Ammonium chloride b. Zinc v
b. Carbon ¢. Manganese oxide

Which one is used in salt bridge?
a. Sodium chloride b. Potassium chloride
¢. Sod d. All of them v
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Dhaka Commerce College
4™ Term Exam 2020
Class: XII

Subject: Biology 1% & 2" paper

Time: 60 Minutes

Subject Code: 178 & 179
Total Marks: 60

Multiple Choice Questions (MCQ) Tick Mark Right Ans

1. Which one is a character of meristematic tissue?

a) Cells has reserve food  b) Low metabolic rate of cells
c) Generally intercellular space present

d) Plastids are in proplastid condition v

2. Which one is the function of pith?

a) Give mechanical support  b) Lateral roots production
¢) Food storage v d) Transportation of food
3. Applicable to the root of monocot plant-

i) Vascular bundle radial

ii) Xylem exarch iii) Pith well developed

Which one is correct?

a) i, ii d) i, ii, iii v

4 Where found V or Y shaped xylem?

a) Stem of monocot v b) Stem of dicot

¢) Root of monocot  d) Root of dicot

5. In which condition, rate of transpiration decrease?

a) Due to increase of soil water

b) Due to increase in humidity v

c¢) Due to increase of temperature

d) Due to increase of root-shoot ratio

6. Oxalo acetic acid is produced as the first stable compound
in photosynthesis of some plant. Characteristics of above
mentioned plants are -

i) Cranz anatomy present

ii) Can adapt in high temperature

iii) Requires high concentration of CO2

Which one is correct?
""" d) i, ii, iii

7. Which of the following organelle is not involved in
photorespiration?

a) Ribosome v b) Chloroplast

¢) Mitochondria  d) Peroxisome

8. By the action of which enzyme dihydroxy acetone
phosphate is converted from 3 phosphoglyceraldehyde in
photosynthesis?

a) Aldolase  b) Isomerase v ¢) Inolase d) Dehydrogenase
9. In super rice which characters have been introduced? i)
Carotene, ii) Iron, iii) Vitamin B. Which one is correct?
a) i, iiv b)i,iii c)ii,iii

10. Which microbe is capable to break hydrocarbon?

a) Pseudomonasv b) Bacillus

¢) Clostridium  d) Rhizobium

11. R6 plasmid can resist how many antibiotics?

a)4 b)5 c)6v d)7

12. Hadrocentric vascular bundle is present in -

a) Pumpkin b) Lycopodiumv

c) Dracaena d) Gourd

13. Which one is modified chlorophyll ‘a’?

a) Pheophytin v b) Plastocyanin

¢) Plastoquinone d) Cytochrome

14. The term ‘Cybrid’ is related to which process?

a) Genetic engineering b) Tissue culture v

c) Gene cloning d) Genome sequencing

15. “Nif gene’ is responsible for which character?

a) Nitrogen fixation v b) Seedless fruit

c) Lightning plants d) Disease resistance

16. In which temperature, culture medium are kept in
autoclave machine for sterilization?

a) 118°C b) 119°C c¢)120°C d)121°C

17. Which one is not under epidermal tissue system?

a) Cortex v b) Epidermis c) Root hair d) Stomata

18. Casperian strip is found in which part of root?

a) Pericycle b) Endodermis v

c) Epidermis d) Hypodermis

19. What is the correct full form of PCR?

a) Peptide Chain Reaction b) Polysaccharide Chain Reaction
c) Polyribosome Chain Reaction

d) Polymerase Chain Reaction v

20. Which stomata has three subsidiary cells?

a) Paracytic ~ b) Anisocytic v

¢) Actinocytic d) Anomocytic

21. Which one of the following is incorrect?

a) Bicolateral vascular bundle is always open

b) Colateral vascular bundle is always closed v

c¢) Radial vascular bundle is always found in root

d) Centric vascular bundle is always closed

22. Which microbe is used to develop insect resistant Cotton
plant?

a) Bacillus dysenteri b) Bacillus anthracis

¢) Bacillus thuringiensis v d) Bacillus denitrificans

23. Application of DNA fingerprint —i) Determination of
parentage, ii) Diagnosis of disease, iii) ldentification of
criminals. Which one is correct?

a. i, it b iy coii i d.i, i, dii

24. ‘Guan-18’ is an example of what?

a) Androgenic haploid rice v b) Androgenic haploid wheat
¢) Androgenic haploid corn  d) Androgenic haploid tomato
25. The ability of transformation of a living plant cell into a
complete plant is called —

a) Cloning v b) Totipotency v

c) Self pollination d) Pure line

26. Which one is master blue print of organism?

a) Chromosome b) RNA c¢) Genome v d) Nucleus

27. Which process is important to increase the number of
endangered animal for conservation?

a) Hybridization  b) Cloning v

¢) Mutation d) Tissue culture

28. To produce recombinant DNA we have to select —

i) Plasmid as carrier,

ii) Ligase enzyme to cut desired DNA, iii) Restriction enzyme.
Which one is correct?

a.) i, ii d) i, ii, iii

29. Which bacterium is used to produce human insulin?

a) Escherichia coli v b) Xanthomonas oryzae

c) Bacillus subtilis d) Vibrio cholerae

Read the stem and answer the following question:

A. special element is used to prevent the growth of cancer cell
and for the treatment of hepatitis-B. By using a special
technology, this element is produced commercially and also
used for mankind.

30. What is the name of special element mentioned in the
stem?

a) Luciferin b) Glycoset

c) Interferons v d) Erythropoietin

31. Which is NOT the bone of skull?

a) Frontal bone b) Parietal bone

¢) Occipital bone d) Hyoid bone v

32. Which muscle bends the knee during movement?

a) Hamstring muscle v b) Triceps

¢) Deltoid d) Rectus Femoris

33. The characteristic of third class liver-

i) Folded Arms,

ii) More results are obtained with less force,

iii) Fast movement.

Which of the following is correct?
a)i,ii  b)i,iiiv c)ii, iii

d) i, ii, iii



34. In the case of synovial joint------

i) Immovable joint,

i) Maximum bone joints of body is this type,

iii) Articular cartilage present.

Which of the following is correct?

a)i, it b)i il ¢)ii,iii d) i, ii, iii

Read the stem and answer the following question -

Sohel felt sharp pain in the arm while throwing a disc on the
playground. Medical examination revealed that the arm bone
displaced from its corresponding cavity.

35. The bones associated with the cavity in the stem are —

i) Scapula, ii)Clavicle, iii) sternum.
Which of the following is correct?
a)i, iiv b) i, iii c) i, iii d) i, ii, iii

Read the stem and answer the following question -
Fossil that show characteristics of birds and reptiles are
thought to be connecting link animal.

36. The characteristics of the animal in the stem are -

i) The infrastructure of bones in the body is like as bird,
i1) Nail present on the tip of the wing,

iii) Body covered by scales & beak present as like as duck.
Which of the following is correct?

a)i, il b)i, il c¢)ii, iii d) i, ii, iiiv

Read the stem and answer the following question —
Munni planted a few white and red colored four o'clock
flowers in her garden and hybridized these two type of
flowering plants. After that she was surprised to see that all
the flowers are pink in her hybrid plants.

37. Which gene is responsible for pink flowers?

a) Complementary genes b) Intermediate genes v

c) Hypostatic gene d) Polygene

38. If a color blind man married a normal (not a carrier)
woman, their off springs will be -

a) Son, daughter (not carrier), with normal vision

b) All daughter is color blind carrier v

c) All son color blind d) 50% of son color blind

39. "X" cranial nerve distributes -------
i) Inthe larynx, i) In the heart,
Which of the following is correct?

a)l, v b)i,iii c)ii,iii d) i, ii, iii
40. Which part of the brain is called *“ Biological Clock” ?
a) Thallamus b) Hypothallamus v

¢) Cerebrum  d) Cerebelum

Observe the figure and answer the following question -

i i) In the tongue.

Fig. A

41. Which part of fig. “A” changes to see the object “Q”
clearly?

a) Cornea b)Retina c¢) Pupil v d) Lens

42. When a dominant genotype crossed with the homologous
recessive genotype is called -

a) Monohybrid Cross b) Dihybrid Cross

c¢) Back cross d) Test Cross V

43. Hyaline cartilage present in -

a) Trachea v b) Epiglottis

c) Between two intervertebral disc ~ d) Head of humerus
44. The doctrine "Theory of Natural Selection" is published in
which book?

a) Origin of Life b) Origin of Species v

¢) Origin of Organic Evolution  d) Philosophic Zoologique
Observe the figure and answer the following question:

‘.',_——A
[ o}l \——Ei
e

-
-

45. In the above figure, by which cavity “C” is attached with
“P” girdle?

a) Acetabulum b) Capitulum c¢) Glenoid v d) Magnum
Observe the figure and answer the following question -

46. In the figure, the cartilage absent in which part of the
body?
a) Pinna b) Epiglottis c¢) Eustachian tube d) Trachea v
47. How many bones present in rib cage?
a)21 b)25v c)31 d)35
48. Homologous organs of human hands -
i) Flipper of Seal, ii) Wings of Butterfly,
iii) Foreleg of Cat.
Which of the following is correct?
49. Which rectus muscle helps the eyeball to rotate upwards?
a) Medial b) Lateral c) Superior v d) Inferior
50. In case of external auditory meatus -
i) Wax gland present,
ii) Directing the sound horizontally towards ear drum,
iii) Maintain temperature of ear drum.
Which of the following is correct?
51. Through which opening ear ossicle-stapes attached with
middle and inner ear?
a) Ear drum b) Pinna
c) Fenestra rotunda d) Fenestra ovalis v
52. The characteristics of the lethal gene are-
i) Mutant gene, ii) Causes the organism to die,
iii) Phenotypic ratio 1 : 2 : 1.
Which of the following is correct?
""" d) i, i, iii
Read the stem and answer the following question -

¢

Parents ———f» White Cow

Red Cow
F1 — " Roan Cow
genel'etionl
F2
Generation

53. What is called the phenomenon of the stem in genetics?
a) Codominance Vv b) Incomplete dominance

c¢) Dominant Epistasis d) Duplicate Recessive Epistasis
54. Bluish-gray offsprings produced by crossing black and
white andalusian roosters. What is the reason for such an
exception?

a) Co-dominance v b) Incomplete dominance

c) Lethal Gene d) Complementary gene

55. What is the Mendelian ratio of dihybrid cross?
a)l;2:1 b)13:3 ¢)9:3:3:1v  d)3;1

56. Which color of flowers Batson and Panet get in F1
generation by crossing two white-flowered Lathyrus
odoratus?

a) Orange b) Purple v ¢) Pink d) White

57. Who proved that the length of maize graft controlled by
hereditary polygene?

a) East v b) Eshte c) Davenport
58. Features of Sex Linked Inheritance -
a) Genes also present on Y chromosome
b) Genes transferred only from father to daughter v

c) Genes transferred only from father to son

d) Features more expressed in women

59. Which phenotypic ratio is correct?

a) Dominant Epistasis —9 : 7

b) Complementary gene —9: 7 v

¢) Incomplete Dominance -2:1

d) Duplicate Recessive Epistasis - 1: 4: 6: 1: 4

60. What will happen to the first child if Rh™ woman marries
Rh + man?
a) Rh

d) Morgan

b) Rh* v ¢)Rh d) Rh*™
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Dhaka Commerce College
4" Term Examination-2020
Subject: Higher Mathematics

Time: 60 min

Full Marks: 60

(Red marked options are correct answers)

1If y=e*, then y,=?

a) 2° b) eV ¢)—-e*de”
2. 1f f(x)=sinx, then what is the value of

fY(x)?
a) Cos X b) —cos x
¢) —sinx d) sinx

3. If f(X)=sinx, then what is the value of

1 1 NE) 1
E \/ b)—E C)— d)—

2 2

4. Find the slope of normal of the curve
y = x® 42X +6 at the point (0,6).

a) 1 b) 2
2

1
=N d
c) 5 )3

5. For which value of x, the function
h(x) = 2x® —3x® —12x +1has extremum
value?

a) —1,2" b) 1,-2
c)-11d) 2,-1
6. If-|‘2mx dx = F(X) +C, the what is the
value of F(X) ?

a) 2mx b) 2mx \/
min2
2mx
c) 2™ d
) ) In2
. -1
7. Find the value of I > dx.
1+x
a) cot ™ x+cv b) tan x+cC
c) sin x+c d) sect x+cC

8. If f(X) =sin X, then-

) i(sin X) = COS X
dx

ii) Isin XdX =—C0SX+C

b
iii)J'sin xdx = cosa—cosb
a
Which sentences of the above are correct?
a) i, ii b) i, iii c)ii, i d)i, ii, iii V
f'(x
9, J‘LdX:?
f(x)

a) In|secx|+c b) In|tan x| +c
o[ fX)[+cy o) F(x)+c
10. If J.sin x°dx = F(X) +c¢, then which is

the value of F(x)?

180 X
b) ———cos—/
T 180
T X
b) ———C0S——
180 180
X
) —C0S——
180
g —29in 7%
T 180

11. Find the derivative of 2°"* with subject to
X.

b) 2°°*In2sinx
b) 2™ In2cos X\
¢) 2°"™ In2sin x
d) 2°**In2cos x
in x )

. Sl
12. What is the value of lim .
x—0 X

a) 0 by-1 ¢)1V d)2
13. Which of the following is the value of

Al b-1 ¢2 dov
14. Find the derivative of sin™* /X with

subject to x.
1

1
—— b)) ————
) 2\/§\/1+x ) 2\/; 1-x



1

1
R e PN P

15. Find the derivative of e** using first
principle.

a) 5> b) &>
c) e d) 5e*
16. Which of the following is the value of
d -
—(x 2)?
dx( )
a) — L b) !
2Jx 2Jx*

d

1 1 ‘
- — 4/
Ve ) Tode

17.If f(x)=2tan™" X, then-

h f(x)=sin"

iy f(x)=tan™

—X

+x?

Which sentences of the above are
correct?
a)i, i b i, iii c)ii, i d)i, ii, iiiv
18. Which of the following is the value of

d
T 10910 %) ?

iiiy f(x)=cos™

a) 1 b) 1Iog e
X X 10
1

c) ;Iogelo d) log,, e

19.1f f(x)=¢€" and g(X) = X, then what
is the value of f(0)?

Q)0 b)1V c)e  d)Undefined
20. If f(x)=¢" and g(X)=~/X , then which
of the following is the value of (fog)'(x) ?

a) ad \ b) 24/x e¥*
24x
N
c) eV d) \/;29

a) e

26. What is the value of j

21. j dx =7
COS X tanx

a) Jtanx In(cos’) + ¢ b) 2tan X +c
3
c) %(tan X)2 +C d) 24/tanx +c¢

2

3X
22.1f j1+ xG

dx = f(x)+c, then find the

value of f(X).

a) tan 13 b) sin™ x*
c d) cos™ x°
) 1+ x° )
tan~tx
23. dx =?
I 1+ %2
a) log(tanx)+¢ b) €™ *+c+ o)
e X 4 d) None
1
24. Find the value of Il x| dx.
-1
a) 2 by-1 ¢)1 d)0ov
e
25. The value of Iln xdx is-
1
bye—-1 c)1V d)1-e
B dx
?

T, V4
a) — b) —
) 3 ) 6
V4 1
c) — ZIn2
) 1 d) 2
27. Find the value ofJ —dx.
e +e™*
a) tan " x+c¢ b) tan~*(e*) +c

c) —cot™(e*)+c d)sin'(e’)+c
28.[Inx® dx =2

5 5
a) —+C b) InX> +c¢
X

¢) 5xInx+c d) 5xInx—5x+c
29.1f f(X)=—"f(—x),then-

i f(X) isaneven function



i) f(X) isanodd function
i) [ £(x)dx =0

Which sentences of the above are
correct?
a) i, ii b) i, iii
c) i, iii \ d) i, ii, iii
30. If f(x)=¢e", then-
XZ
D |In(f(x))dx=—+cC
Jin(f (0)ax==
1
i) I—dx =—e"+cC
f(x)
i [ F(x)dx=—e*+c
Which sentences of the above are
correct?

a) i, i b) i, iii c)ii, iii d)i, ii, iii

31. Which is correct for hyperbola?
a)e=0 b) e=1
¢) O<e<l d) e>1+

2 2

32. If the equation X—z—yg =1 passes
a

through the point (—5,—4), then what is the
value of a?

a)9 b)3y c)1 d)E
3 9

33. For the equation of hyperbola
2 2

* ¥ g

4 5
i) Length of transvers axis is 4 unit.

i) Coordinate of vertices is (i\/g ,0).
i) Ecentricity is g .

Which sentences of the above are
correct?
a) i, ii b) i, iii Vc)ii, iii d)i, i, iii
34. For the equation of hyperbola
2 2

X Y 1, what is the coordinates of
256 225

vertices?
a) (16,0) b) (£15,0)
¢) (0,£15) d) (L +16)

35. For the equation of hyperbola

x2 yz
—————=1, find the ecentricity.
256 225
Ja81 V481
16 15
J31 31
c) — d) —
16 16

36. The equation
9x* —16y* +72x—32y-16=0

represents-
a) parabola b) ellipse
c) hyperbola v d) circle

37. What is the resultant of two forces of
magnitude 8N and 5N acting at an angle 60°?

a) V120 N b) V128 N
¢) V129 N d) V130 N

38. If two equal forces 5N acting at a point and
their resultant is 5N, then what is the angle
between them?

a) 120° b) 90° c) 60°d) 30°

39. Find the resultant of two forces 6N and
16N when acting at a point in opposite
direction?
a) 2N b)6N c) 10N d) 12N
40. If the square of the resultant of two equal
forces is double of their product, then the
included angle is-
a) 120° ) 90° ¢) 60° d) 30°
41. Three forces of 3N, 5N and 7N acting at a
point along three different lines are in
equilibrium. What is

the angle between two greater forces?

a) 60° b) 90°

c) cos™ 5% v d) cos™ 17
70 14

42. If the resultant of two forces acting at the
same point is maximum, then the angle
between them is-

a) 0°Y  b) 45° ¢)90° d) 180°

43. If three forces P, Q, R acting along
perpendicular to the opposite sides from the

angular points A, B and C of a triangle
ABC respectively are in equilibrium, then-
h P:Q:R=a:b:c

i) P:Q:R=cosA:cosB:cosC



i) P:Q:R=sinA:sinB:sinC
Which sentences of the above are

correct?
a) i, i b) i, iii c)ii,iii  d)i, i, iii
44. S and T are two forces where (S>T).
Maximum and minimum resultants of the
forces are 8N and 2N respectively.
What is the value of S?

a)2N  b)5NV c)6N d) 8N
45. S and T are two forces where (S>T).
Maximum and minimum resultants of the
forces are 8N and 2N respectively. If

angle between the forces are 60°, then what is
the value of the resultant?

a) 3N b) V13N ¢)5N  d) 7NV
46. Tow like parallel forces of magnitudes
12N and 16N act at the point A and B
respectively and their resultant acts at
point C where AB=14m. What is the value of
BC?

49 ‘
942 b= 08 d) 6V

47. Two unlike parallel forces P and Q (P>Q)
are acting two points. If they are increased by
the same  amount, the point of action of the
resultant will-

a) remain at the same point

b) move further off from P

c¢) move further off from Q

d) act between P and Q
48. Two forces are acting at a point and one
force is double to another in magnitude. If the
resultant is perpendicular to the smaller
force, then what is the angle between them?

a) 110° b) 120°+ ¢) 135°  d) 150°
49. A light rod is acted on by three parallel
forces P, Q and R acting at three points at
distances 4 m, 10 m and 8 m respectively
from one end of the rod. If the rod is in
equilibrium, then P:Q:R=?

a)1:2:3% b) 2:5:4
c) 3:2:1 d) 4:10:8

50. Two unlike parallel forces of magnitude 42
N and 24 N are acting at the points A and B. If
their resultant is acting at the point C
of produced BA then what is the ratio of AC
and BC?
a) 7.6 by 7:4 ¢)6:7 d)4:7

51. Which of the following is the centerless

conic? ‘
a) circle b) parabola
c) ellipse d) hyperbola

52. Which is correct for parabola? ‘
a) SP > PM b) SP = PMY
c) SP<PM d)SP=0

53. y* = 2(1—X) is an equation of a conic.
The ecentricity of this conic is -

a)e=0 b) e=1+

c) O<ex<l de>1
54. y* = 2(1—X) is an equation of a conic.
Which is the coordinate of focus?

a) (0,0) b) G,oj v

ola1)  efog

55. Find the equation of directrix of the conic
x> -2y =0.

a) y+1=0 b) y—1=0

c) 2y+1=0" d) 2y-1=0
56. The equation of a conic X* + y* =144
represents-

a) circleV b) parabola

c) ellipse d) hyperbola

57. Which of the following is correct for the
conic 9x* +16y* =1442
a) SP > PM b) SP =PM
c) SP < PMY d)SP=0
58. Find the ecentricity of the conic
9x* +16y* =144.

a) ! b) !
4 2
c) ﬂ N d) ﬂ
4 2

59. Find the length of the major axis of the
ellipse 16x° +25y° =400 .
aQ)16 b)25 c¢)8  d)10V
60. Which of the following is the coordinate of
center of the ellipse 5x* +9y* —20x =257

a) (0,0) b) (2,0)V ¢) (0,2) d) (0,5)



